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Unit 1. Travel

Vocabulary Preview p.11

A 1.comfortable 2.usually 3.hitchhiking
6. thumb

7. destination 8. sailboat 9. stranger

4. sightseeing 5. traveler

10. relaxing
B 1.¢c 2d 3e 4a 5.b
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relaxing =6t Hot
destination =&X|
usually 2&, CH7H
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comfortable HeIot
hitchhiking 5/x[5t0]=
stranger = AR, Z2= Al
thumb ZX[27t2}

bored XF¢t, hEal5=

lift Soi=2lct

illegal S&%i2!

activity &5, 27|

cheap 2t

Reading 1 p.12

1.® 2.0 3.@ 4.9

Visualize the Text
(1) two islands (2) fun activities
(3) Auckland

(5) movies

(4) tall mountains
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@ Bothislands are beautiful and have many
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fun activities.
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« SAt are, have?l $0{= Both islands0|Ct,

EEY People call it the city of sails because there

are so many sailboats.

* 0] + call + =X{0] + X0 : SAt call2 &
AE SHE0Z ARZSlTt

@& In the summer, many people go hiking.
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2 7Ict go climbing: SA7HCE

Reading 2 p.14

1.® 2.3 3.@ 4.3

Summarize the Text

(1) many ways to travel

(2) can be fast and comfortable
(3) may try hitchhiking

(4) illegal in many places

(5) strangers are good people
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@Y Traveling by train is popular because it is

more comfortable and faster than riding a

bus.

* Traveling2 SBAIZ 28| £=0{0|Cf,

- more comfortable and faster than2 Hlug
HF0ICH

« it2 IHEALZ traveling by traing 2lo|stch

« W22 0|&310 traveling by trainzf riding
a bus2 b|w3ict

@ You stand next to the road, lift your arm, and
stick out your thumb.
«HHATR A B and C
« 01 Youol SAf stand, lift, stick0| SIELAL

Answer Key



and2 HAZ0| UACE
« X0 M= e AIF0f ZOfsHOF Sict,

@& You do not know if they are good people or

not.

c BAEZ MEE i BAER 20M 0, =
X0, 2019 J2 Bt

«if they are good people or not2 SAF know
9| ZHo{0lct,
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Unit 2. Hobby & Job

Vocabulary Preview p.17
A 1.rarely 2. raise 3. lawyer
4. opinion 5. popular 6. unusual

7. poisonous 8.owner 9. professional
10. pet

B 1.c 2b 3.d 4e 5.a

& oy

popular 27| U= pet Oits=
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lawyer HS At unusual S0[3h =&
professional TI2&{Q! opinion i

cruel iRl FH=5t dangerous ?/&ict
special EE5t E45t friendly 21E8t f5%01

decide ZHalcf, ZAalstct

Reading 1 p.18

1.3 2.9 3.3 4.9

Visualize the Text
(1) garden (2) friendly
(3) play around (4) comfortable

(5) catch and kill (6) large sizes

Answer Key
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4 2 20iM Chs 20| S01E fIXl= 718 €52 R2?
[ OIS S04, HIThi2 40[E] He Z0|2 SNBICt |
HIEt0| 40/8 H= Zolz gt A2 YWS0l O
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@& You probably need a garden to raise a pig
because it would be difficult to raise one in
an apartment.

* 1o raise= AN 8oz =XS LIELT &2
7|27] $/atof olct,

it 71204, to raise ~0|Gh= XIZ=0{0]Ct,

people rarely keep them as pets.
crarelys &EHU2 Ho~6IX| =Lt 9

o1y,

oln|

« =580 : rarely, seldom, hardly, scarcely,
barely

@ Snakes do need a lot of special care.
* (do(does, did) + SAIEE) @ SAE L=
2[aiAf do(does, did)E At&eict,

@Y Many people like watching their snakes
hunt and kill their food, but some people
think this is cruel.

* XIS AHwatch) + =01 + =XHHO(RHTFLEAD
+ watching2 SHAIZA likeQ| =X0{0|Ct,

@ Sometimes, they get too big for their owners
to keep.
100 A to 2HAKB) : UF AsliA BE 4 gict
« (for their owners)2 to keep2| 2|04 F0{0]
Ot 239 oojy F0i9| el for + S
24 0|ct,
@Y You should learn how big a snake will get
before you buy it.
« ZFHOIERE O : AZAF + 0| + SAL
* how big a snake will get2 SAt learn2| 25
ofo|ct,

AnswerKey

Reading 2

1.@ 2.0 3.©

Summarize the Text
(1) One unusual job

(2) test games

(3) to sell them

(4) video game magazines

(5) their opinion of them
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unusual2 'SO0[gh oldel o Qojoln, FAMZE=

‘strange, unique, extraordinary’ 0|Ct
3 ¢ =0ilM BId2 AY
il XS k=7t

=2{0|01=0] B|E2 A 2ME ?

® 152 Hlcle AYSE T

@ J52 Hltle AYSES AR
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4 91 201N IS 230| SORZ AR 7K AU 227

(35S AYS 3 S0l 7s M XSSl ol Ec]

() 2ol BICIR AY TRIAE Sish Usle IS0l Liec,
metA, AYS B 5 7INE B £ F0fE 232l 9

X

Xl= (c)7h MEsitt.

@Y Butifyou are still thinking about it, why not
consider an unusual job?
<2 o 2 LIRE QA HSAL,
Al S0| g7 AlS 7S X|RISICH

* (why not + SAIEE~?)2 STl HMetsk=
Ho=2 552 ~ok= A oful? olck,

WAL BAE,

@ Canyouimagine doing what you love and

making money too?

+ doing what you love and making money too
= SAtimagine® Z=x{o{o|ct

+doing, making2 SBAIZ SHATSAL and2
O|_47=15|[:|.

« what2 MAAS ket HAHEA= the thing
that)2 (~ZH 2= sliAfeit,

@ No one would tell you to stop playing video
games.
«(No one)2 OfRE ~QCt o on|2 F2 AR
Ol AMO|H Thas FFeth,

- tell + SH0{(A) + to EHAKB) : Aol Bat2tn
AlZIE,
e Stop + ~ing : ~otE A

stop + to E-AL: ~5H| ¢

Answer Key

Unit 3. Health

Vocabulary Preview p.23
A 1. flexible 2. pose 3. bow
4. practice 5. pain 6. digestion

7. claim 8. resident
10. secret

B 1.c 2d 3.a 4Db b5.e

9. life expectancy

% ofy

pose At digestion A&t

secret H|Z, H[Z resident A52!

practice $&(5HCH life expectancy 7|t 43

pain 15 flexible 26t
claim FZoitf, @7sict bow &, Hairt
as a matter of fact AFM2 average T
grab &CH weird 0[5t
relieve 2stA[7|C} =0|C
Reading 1 p.24
1.© 2.3 3.@ 4.0
Visualize the Text
(1) practice (2) stronger  (3) digestion
(4) lie (5) bend (6) lift
=
Ol AiRMS2 2U/PF S8 O 71dsl=s BE0 & 4 Sl=
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Heizel 51t 7i5S ESoM siisLich Eot 51t Ci2lel 85
= ey, Asle EoRELCE P, HIES Hi2fE0 =9
M OAERILICE HIE IS0 20Me. [Eez 252 54
O2iEe] 22 HeMe. oiREfez felg soE2/8M 52
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1 9 29 =He=z /iy g2 427
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B lgSeS N =

Xesh= UEel =2

o|ct,
2 2| 29 relieve®t Qol7t 71 Hlxst A2
@ ottt @ oF7|alct, z=z2Hsict
@ LaAZIC}, ZA6iCh @ BX|CH mcH
relieves= 'ZOIFCE OH=GHA| SICF 2] Qo]0 S22
alleviate, reduce, relax OICk
3 ¢ =29 st IXI6K| = Ae?
O MNHE2 OYs 27t XME Sl |t & =~ UCt
@ o MEE2 27PF aX olet AEFo|2ta 42t
St
@ & Il == ofEa, =X 2 AIFS00| et &
2 QC,
@ NEFE2 F9tt MME fI6hM, & XIMIE 20= 014 7
KlefiAl= 2 ECh
20 Ol & Mg RAlot=S iGalH 12 Ol 2 Xt

Some say that yoga is just weird stretching

that can’t make you stronger.

« A B that2 "EAMZM SAL sayQ| SX{0{0]
ot (BAE)

<5 B thate ZACHEAL 3=
stretchinges 4=AIBICH (HSAFY)

+ make + =X0{(you) + SXE0{(stronger)

Aoz AR

Only a few can do it correctly.
conly a few : ©X| 2 AHE (289 20))

« it2 the bow(R7} & XM)E 712I7ICk

AnswerKey

Reading 2

1.3 2.@ 3.© 4 @

Summarize the Text
(1) a simple way

(2) their own fruits

(3) another secret

(4) lots of effort and care
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@Y In asmall English village, people have found
a simple way to live a long time.
« have found: Sixiet=z
10 livee EBAN 8HOZ a simple ways &
Alfsii
@ Many of the old residents have done this
their whole lives.
+ have done: ®iXit=E (A1%)
thise & 28 HISSH EXIOIM XHIS9| nidat
OFME Xiiist= A& 2n|ick
€&Y As a matter of fact, Montacute has the
highest life expectancy in all of England.

+as a matter of fact: A2 (= in fact, actually)
- Zl8E B8 the + 2145 + in &4 (of 24BAD

Unit 4. Holidays

Vocabulary Preview p.29

A 1. last

4. available

2. legend 3. decorate

5. gather 6. responsible
8. have in common
10. boredom

B 1.c 2e 3b 4d 5.a

7. parade

9. traditional

Answer Key

£ o3|
traditional M=2
last |5t Alotct

decorate HA5iCt

gather 20|Ct 2ort
parade %! mHe{0|=

have in common 85X 22 X|L|Ct

legend 4 responsible MX|1 U=
boredom %I=&f available 0122 4 U=
around the corner Hx| 220t  delight 71, &7/1=
attract OS2 ECf, 0i=AZIC desire 8Y, S+ 2Y
especially £235|, 3l

Reading 1 p.30

1.@ 2.@ 3.3 4O

Visualize the Text
(1) O’Flannery’s Family Restaurant
(2) St. Partrick’s Day  (3) Irish dishes

(4) Irish dancers (5) activities
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g2 Ag =5lk= S0Ich

2 9/ 29 around the cornert 2l0|7t 7H& HISH 2427
O z230e  © 28Es0t
@ xsez @ OiX| Lof, 77t 2ol
around the corner= '™X| 20t 77k FzHol of 2jolo|

1 S92E ‘'soon, in the near future O|C,

=
Q@ 2EUHz| HAEH= O0ISS fleh ofet St

AL gt
@ FEo| OlRUC 22INS0| ES3H OIUUE SAIS 4
22 Zo|ct

4 9| 20| LjgoR X2 4 i 227
D 2| HAEYS SHst 50| 22 2 o/t
@ 8 TE2I2 OIUHCOIA THR BB ARIOIRUIS ZHOICk

0

@ ¥ melel Yol @Bue HAEYS PR2

@& You might have heard about many legends
of St.Patrick.
« might(may) have p.p. : 212 225t F=
<ol ~RIEXE REL, ~0IRUE K= 2ECH

@ We are excited to introduce traditional Irish
chefs.
SHEAKA) + to FHAKB) : to FHAKB)= 2™

HI(A)S dst= FAY S-o|ct.

- Z 2L} ¢ excited, angry, sorry, pleased,
surprised

€&F 1n addition, we have a group of Irish dancers,
who will delight you with their folk dance.
*In addition : (AlChele Xz, £ JF3
o ARZBict,

AnswerKey

s who= 2AEAL =422 MeliAl= a group
of Irish dancerso|Ct

< PACHEAL AEX S 0 BACHEAD 4220 S0t
74 QACt

@Y Don'tsit at home thinking about how much

fun you could have on St. Patrick’s day.

«thinking2 SIMHEAIZN SASAS LIEHHACE
(~3IEHNM)

+ how much fun you could haves QIZAE(Q]
ZAF+ 01 + SANE aboute| SA0{0]|Ct

Reading 2 p.32

1.0 2.0 3.0 4.®

Summarize the Text
(1)celebrate holidays

(2) attracts millions of people
(3) the largest beer festival

(4) a grand parade

(5) forget all the troubles

CIE 2252 2t M2 OE YAlez s 718Ut ok
oF 22| 257t S8HC2 SRoke A2 &711 #ofsks Y
YUCt o H2 oM 162 St ALEle =2o| | =X
ZEHHAES] Z0| Sol 2 =E2HUCh MFgE2 MFE ot
A= 20| 20 HiFer f2 =2 SAE e Halioh 28y
O=2 ANX|, 72 X127 MPOHIRE(FEA LX)t HS
U SEHHAEE MAIM 7K 2 U5 ZH0[H, o

Aol AFSE B0 28U (a

=
[=n

Ot 214 = OE 2]

o
r
Ampy s

= SME B2 MEEs =2 SYUN HhAEez 7|85
SH FtE2 Bt 71y 2 TElYUT. (o) oish 2

2 2|RURHOIF Al =A| 7[2tof 72
C

o e fr ;2 4>
ll

o i
n
i)
N
—{_O
gl\__l
02
1=
rn

Answer Key
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(EX T

1 9l 20| 2xjo= Jhy Y %

£ AMstn U,

2 9 29 desire(@2)et o0z} 71&E H|=st 2427
@AY @947 @ HE @ =
desire= €Y, 271 2 9] oJo|o]2, S2/HZ= ‘wish,

longing, hope’ Olct,

3 OE 5 ¢ 20iM A5 @2 A2?
O SEHMHAE= 169 s ALEC)
© SEHIAEE =Y ElRlo|M JHE[EC
Q@ AMHE2 2% 7HL0lIM 7HHS AESIK| =L
@ 2|2 FHZoll= the m{0l=7F UTH
AFE0| 2|2
SR AUTE

A

TN THHE AESHK| Yelf = o

4 ¢ 201 Ths 20| S01E ?Xl= 718 52 A2?

HICH 214 = O QU] U= SH=E BH2 MEES =2
|

o

=

a) Yol= SEHHAE et HES AJlst QUCH

I 282 SEHHAER OHE JAQl, Bt SME
o

2 7| w0l T 29 L2 #IXl= (a)olct

Lt

A

=
=

—

ol

@& But one thing (that we all have in common)
is a desire to have fun.
« that2 ZAHEALRZ one things 4418tk
« have HAKA) in common: AS S5Xo2 X|L|ct
10 have= 2HAIZ BAf a desireE pAIBIT
« 2219 04 one thing, SAK= isO|CH

29 Oktoberfest is the largest beer festival in the
world, attracting millions of people each
year.

« {the largest + HA} + in the worldy= ZM&

B0,

« attracting2 2AMS| AN SYO=Z and it

Answer Key

attracts@t 2= 2[0jo|Ct,

@& Celebrated all over the world, Carnival is the
biggest party in Brazil.
- {celebrated ~)HEH2
EALZ0C,
« ZMZ B3 : the biggest party + in &4

being0| Mtel +5

p.34

Vocabulary

A 1. flexible
4. rarely

B 1.0 2.2 3.D
C 1.resident

2. gathered 3. responsible

5. poisonous

2. destination 3. opinion

4.legend 5. owner

English Usage

A 1.toplay 2. rarely 3. hiking

. may have missed 5. has known
. climb --» climbing

. eat - to eat

. snowed - has snowed

. may not attend --» may not have attended

. hard --» hardly

Making Sentence

A 1.people don’t have enough money to travel

ST N WO N == N =

2. like watching their snakes hunt and kill
their food

3. higher than most other places in England

4. who will delight you with their folk dance

5. One thing that we all have in common

EEER)

» Vocabulary

A 1 28452 RS Tr2|S 7K1 YF

o
ror
in



A

. Ta0] HHOM V1Y REe FHE 271 sl 2R
.I

3 M=REE =AM ZHE ZHIE YR UL,

aN 0N =

HAEIS 21 Al

719 TSR] UL ofret A

UMHS 1, ¥ Fo| AlFo| R IAS

Hret 29 0lof2 @23 A9 ot ZAIS0|C)
O FRlst @ WA=
Q@ =49l @ Herst

L= CiHdel M=z2 mz2] 20| 7[0[skA|2 SdX|ct
2

HX|ed0t 7428107 | 20| SHEE2 7(8ict
Ok OF=I=
Qs @ olg kst
resident : EEe A0 AHL HRE2E= Al
destination : AIEO0|L} S710] 712X} k= &4

. opinion : EEet FAllof 2ot MZtS0|Lt A

. legend : 228t Al (Z2&)0f 2ot 224E FHTt 0|0
owner : EMot 2712 ARSI U= AR

Ak

2, C}2|2 CER7| W2l o2l Aol 22 47t gidict

3 0lH =Lof Lt 20| 5to|Zst THIR?

4 2OIE2 Ol M2 7H= 7IRIE SREXE 220

5. AEIE2 0f2] AHEE Z2/0t2 LoD Lot Z#EE
oflgoct

[aH4]

1. &7 = ol Mgkt 812 1o play with 0[Ch,

2

3
4

5

rarelye SAIRM 7ol ~GHK| &=,
2, 3l#et of Kolct,
go hiking : 5t0]Z& 7H

(may have pp)2 1719 235t 2=
2 el == LEfHCY,

2l AMEE SR Al LorRty| 2o Sixjetz
AHI7F 3t

rares YSAIR

ot

-

B [s#A1]

»>

AnswerKey

1. shele FLoltt Silele A8 Z0K8itt

2 Mzl= HET0IM SHE o e LA 27t QAT

3. 5 2 =0| URCE a2 =27t XIg HIA=IIct

4 UHEE= 25 OFY 3)9J0f EAoHX| UESX|E 2Lt

5. 150 10IUE 7HX| ZallM RtSXE DT

[3H4]

1. Sfst21 7Lt 1 go climbing

2 to BZAE A9 BAE +ABICE HE A 1 anything
to eat

3. 5% MEH XSV =0| ith= WE0|=2=2 SiXiet=

4

AXIZE HRSIC
WALEs ofR)el E=taet =022 may not have

attended”t Y2 HH0|CE

5. (0 + had hardly p.p. ~ + before + F0{ + IHS

A HRCE 2 hardly7t ER3tC,

Making Sentence

1. 2ok ofelisi ol SEet == 21 A YOHH, 5IX[SH0]
Zs g = Uk

2 U2 AMEE 259 ol HolS Aidele =0l= A B
= A= Z0feltt

3 OIH2 &= Oicko| OhE X[ASHEC 5H0M 10 =
= AYHct,

4 22|= OldH= S0 U= 0|52 BI&E0= o
HES 787 sll=g AYUCEH

5 Rl BE SS5O% SRol= A2 5711 20jske &
JYLCt

Answer Key

11
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CHAPTER 2

Art & Entertainment

Unit 1. Music

Vocabulary Preview p.39

A 1.impatient 2.technique 3. disappear

4. instrument 5. signature 6. industry
7. string 8. afford 9. contract
10. idol

B 1.e 2d 3.b 4.c 5.a

& oy

instrument 2{7| signature MY

string &, & contract /|°f
idol ®&
industry ¢4
afford GiR7t UCH

attractive Of=X{Q|

impatient W&
disappear Al2fX|C
technique 71&

talented tHs0| U=

develop ZEA7|Ct trick £0ICt
ignore FA[GICH
Reading 1 p.40
1.0 2.@ 3.0 4.3
Visualize the Text
(1) modern violin (2) string instruments

(3) expensive
(5) difficult

(4) signature

AESICHIZ|RA HIOEZ2 MAM 71 HIM Hlo|Z2I0|C,
JAE2 UEHR AERICHRRISA Cfsh MA=ACE = of

© 5560|222 USYUT, HSOZ HIHEOI Hlo|2S JH
dIich 1 16441 O[i2lofel Lt Kol Efofkt,
1737001 MRSt 19 UM E01 AEalCibRISAL 11007

Answer Key

o Hiol2g, ofZ, B2, V[Ef, 12(1 HIZ2t 22 SAVIEE N
ARICE oI 2= 29| AERCHZ|RA HOISRICZ 71 R
Yot AE2iCH2|RAE HIOISRS 2ot 2ERICL @5
2O MHE2 03 = AERITHZ|RAVE @2 ol 2 Hale
Z Hiojggls 2En AT

U2 HIO[SE|HAESES AECICHIZ|RA HIOIZRIS 7HK| of

Hi2|?AS] Hiol2E2ts sk B3V H—Er01| AEE}EIHEIT
A9 MES ZIESI0 ALZSIICE HIolZ2el HAKSS MEES

AESICIHIZ|PAQ| HIO|S2IXE

I
o
El
)
pal
62
£Q
pal
2
mn
H>
ol

LsHols AECH

t
f

2|9AVF 1 HlolsEls UEUEX] THE HiolsE! MAXIS0] 3
0I22E TE = Hed| AE2iCHR|SA MES AtEet A2
Xl= 271 oo,

1 ¢ 29 M5ez 71 Yake 427
D RYst AEeH|Hl2|RA HIO|S2
@ MIAIIM 7+ Rt o[22 ¢t
@ Hio|IZ2E AF9| o2
@ diol22! MEfQ| LA Y
?| 22 AERHIE|RAL] 41} AEZICHHIZIRA HIOIZ

2iof 2ot LES A0Mstkn Tt

[

2 9 29 perfected®t 2|07t 7&F bIZst 2427
@ gEict @ opct
@ ASAIZICE @ AT

2& ‘improve, make better’ 0|k

3 ¢ 29 AE2iC|HR|RA0 O 2HOZ USHX| g2 A2

1

=
@ *Eﬂfilﬂfﬂlo*t L St 1,100712] HiolS2S A

ik,
2itjdi2|eA Hiolsgln 2YE Hlolz2ls st
of=ct

2iC|H[2| R4 HIOIZE2 MIAOIA 7R ZiHIM Bio|
lojct,

19| Hiol=loll 0I5, EHOIE =A|



2, 7l d8ln HiZE) 22 HopIE MERICE
4§20 LB 2 20| olojsls IR Tk Yk %27
@ Hiol22 HEKISS 150 Hlo|S2lo| ZiEo2 Yaix|
2 st
@ oIS MEKISS HAlEt ARSI F1ol bo|SE!
S pIsviE At
@ Hiol22 HAKISO) Hjol22I0] AEBICIHISA 1o
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=
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=
S
mo > Mo
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o
4
i
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N
o
2
]
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il

HIOIZ2E MAASEE2 MEES 40111 AXl= AUREL AE

@Y Stradivarius violins are the most expensive
violins in the world.

« ZAE B the most E2AL+ in &A

& During his life, Stradivarius made 1,100
string instruments, such as violins, harps,
cellos, guitars, and violas.

(A such as By= B &2 A 2 afiAsty, of
NS S0IM 28 Il 2 AISElCt

@ He and his violins became famous, and
people began to copy not only his technique,
but also his signature.

*not only A but also B: A2t OtL|2} B=
* not merely (just) A but B too (as well)0| 22
olnjo|ck,

@ Now, it is difficult to know if Stradivarius
made the violin or if other violin makers
simply used his signature when they made it.
- ite 71504, {to know ~)= ZIF0{0|Ck
Jife HAES 0l ™EAMR ~QIX| OlX 2

T MY ifE2 S HEA or2 HZE0 UL,

AnswerKey

Reading 2 p.b2

1.@ 2.0 3.0 4 @

Summarize the Text
(1)that teenagers admire
(2) attractive and talented
(3) to get a contract

(4) Being a teenage idol

(5) may not last long
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1 OFS & teenage idolsE 71 ZF RASH 2427
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@ as2 71810 MoRle s FE0
B 252 S| SARIC
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@EY When they are popular, the singers and the
songs become big like bubble gum, and
when they are not popular any more, they
pop like bubble gum.
*likes TXIAR ~X,
*not ~ any more= T O[&~0H 2| 2fojo|ct

(= no more)

~Z2 9| ojnjo|ct.

It is stressful to be a teenage idol. Teenagers
become impatient quickly.

« 12 71504, <to be a teenage idoly2 FIZ0{0|Ct,
*become= ST XSAZ HEME 20=

=Ct (NOT - become +mpatienthy =)

Answer Key

Unit 2. Art

Vocabulary Preview A
A 1l.animation 2.ancestor 3.amazing
4. effort 5. graffiti 6. process
7. spread 8. nightmare 9. attempt
10. raise
B 1.d 2b 3e 4a 5.¢c
£ oy
nightmare /& amazing s2t2
process o+, Hxf raise =2|Ch 7|2CF
animation OHLH[O[4, Btat A3t graffiti Jefm|C] <A
attempt A= ancestor =4, M=%
spread HX|C} SHAFSICH effort =3
obvious F&3! 2Hst alotof &=
put together 2<2Ct £2/5IC  disagree 2/740| CH2LC}
meaningful 20| U=, EL5H
Reading 1 P46
1.@ 2.@ 3.© 4. @

Visualize the Text
(1) dolls and models

(3) are put together

(2) takes a picture

(4) 100 pictures

(5) 100,000 different pictures

=D

(C) A=A ofiLimo[d2 FNEVIR? Y K2k=20] Fot (3
2|ADIAS] AZ)0|Lt (FefAet O=0)= Z0fetttd, Ofot Of
0] &1 s gUCE X2 37 didlof lgo|ut 2Es 01
Sh= ofiuofodel of EFYUCE

(B) =2 Qlgs == 250 ARlg BgUo 28 ARKIE
Of eftfl 20| 2Igol dxz A0l AxE 2o =%
mete & SlUHE == SAI 20| Haet SHY0= 2ies
Ol 10004 Ofefof AfElo] EREFUCE

(A) (FRIADIAS] SfF)ofi= MR T 019l 27| THE AREIEO0|
SOUABHLL AN FoIE s o HEY =20] ECk=
A2 ZEYUCL HIE 1 1R€0| oo sioete O 2z
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5 2HE0] HIS OfECt siHet: &5 g8 Sat

Cf 2= &0 g =ict

N
- 0

:

3 939 giziof] Sofz HZojR I Lok 227
@ a2gol= 2551 @ ek, J12e2
@ Akt @ g2, getti2

o Fo MEIS0| SMMM RSOEICY = W FHoll 1
2t 22 S HHol 100% olael ARRIo] sl =
LHE0| ojofx|=2=, gIZtol= Qlut HAE LEt= HE0/t

Sozt 4 Utk

4 9| 22 LH2 MU= LEe A2
AFEM ofLioolMde] HolE YeiF= (c)Fol o] B2
(B)7t O[ofX|1, O] ofAl=

0
(F2AOA oZ)E 0loP[5h= (A2 &M= Z0] 0[0140F

rr

ﬂfXﬁO el =" 1xt

@ The result is often an amazing film, even if
the process is difficult.
«amazing2 SIHZAIZ HAL filmS AlSHT
ceven ife AE FAES 0|T1= FEA0[1,

HIE ~OIX[2F o|ck

0

r

@G When all the pictures are put together, it

AnswerKey

looks like the dolls are really moving.
- are put together : SIMAIM £SEIZ =2 =2
OFX|C} olct,

* {look like + BAKE)S ~AH =oIct 9 2o

0|2, HAH E= ZH0| Foi L=C,

@& Ifyoulike films such as The Nightmare before
Christmas or Wallace and Gromit, you
probably already know.

*Asuch as B : B2t Z2 A
« (F2|ADIAY OFF) O|Lt (ARt O20h=
2H(films)ofl Chat oflA[O]Ct,

@ 1tisa type of animation that uses dolls and
models instead of drawings.

« that2 BAUEAFZ)Z BAL animationS 44
SiTY,

«instead of= MAIAIZ 552 "~OiAlof O|Ck,

Reading 2 p.48

1.0 2.2 3.0 4 @

Summarize the Text

(1) found deep in caves

(2) The pictures were difficult
(3) what the paintings mean
(4) to understand the world

(5) to make a room prettier

=D

JeimlEls HS Mz2 A =

2| s =9 Yol 2gs I (@) 2

El9] ti=E2 | olz7tel olSolLt EHE E)\Ioﬂ THEEIE:I
I_

T B BOIKY, 270 o ofE7ISe| 2

At ot A2 OfLRICE (b) =719 &Y ole2 5= Huet
ROIM SSHez LAH g =0 =HX| =0 (c) ol2fet
ES AXoke A2 27| AR A 212 0242 10|
RACE (d) &2 S7Ht e X2 5 ol A 5h= dl= 2 Al
0| ZHLCE, SHFES2 0] IS Fefet olnjof tishiit= of
Ts| QiAo SYRIGHAIRE, T20] 2lFe| WY SRt HAM

Answer Key

15
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Che Folle sofeitt.

ozl ¥z H2 2= E2ds Adoh ad2 S¢e o
OFSEM RHE1A} k= A=Y 22 OfL2) XjAI0f &1 U=
NAE olz7t&0] olslisteti= Al=017|= Sith oS S0 gL
L=t OBIX|9] OS2 A7t O M7l £9f XRuO| fIx|et Al

1f XRAS| HAS OfsHiSt et she A=t R2l= HEs] =71
S= 0=7152] HAIXKIZ OfsiSkA|] RakA|2, 1 ofle7tE2l =
20| B0 A2 259 Yol ARiSoi7l= iR 2fof AU
Ch= Holc,
(Er=)
1 929 M=oz 71 e A2

@ zl=z9| o= @ 1IE ?etoles

@ 7lolet T2HmlE] @ oz 3z

9 22 7| S= H3fof 2ot 20i0t J2imlElet 2@

L2 CHEIX|9] O3 237| S= Halol| g 29 4

Holct,

f=}
= .
ST ES2 Y o=2f 2n|E 25| Olslsial AT

= = 0

Of0l= Oll=7t=0l MAIE OlaH

g'g
|'|F

= A2 LA S 0jofT eite] B2
oF Z=0|ct
1R 2o AFES2 2S5 g2 Anjof thsiii=
047T45] 2I740| LR[SHA| =Lt 2h= LHE0| AZEUCE

O 2= ollz0] SuXYS 2HFI| 2loh
@ =7| ¢4 ollzof Chigt oAIE % | #lat
Q@ ZE Ol=2 FAXQ ojof7t 9l
@ CHEIXIZE MAS 25| ofstisi AssS 2057
20lE 2= Ole2 AEsS s A9l oo 2

% 2ot| flaliiM 2L

Answer Key

2 84

Early rock art is commonly found deep in

caves where it cannot easily be seen.

 (where~)= SHARAER HeliAl cavess 4]
SiC.

* {cannot be seen)= ZSAZI U= SAL +5
EHOICE,

@& 1tis not only an attempt to make a room

prettier, but also an attempt by the artist to

understand the world he or she lives in.

«not only A but also B : A%8t 0lL|2} B

*to make®t to understande= 22} 20f U= H
Al attemptE 4-AlSiT,

*the world (which) he or she lives in : 2%
ZAHHAL which7t MZFE/iT he or she

~ASIEE QAo

7Fs3slict.

lives in2 HAL the worldE
2 S5 AAHARE A=

p.50

Vocabulary

A 1.disappear  2.attractive 3.impatient
4. put together 5. meaningful
B 1.® 2.9 3.@
C 1.ancestor 2. instrument 3. nightmare
4. graffiti 5. contract
A 1.anymore 2. was 3. most
4. such as 5. instead of
B 1.calls - call
2. 10 - any
3. instead -+ instead of
4. The most --» Most
5. such --» such as



A

Making Sentence

. not only his technique but also his signature

. when they are not popular any more

W N =

. that uses dolls and models instead of

drawings

o)

. it looks like the dolls are really moving

5. Most graffiti today only tries to spread

(EXEE)

» Vocabulary

A

A

1. 126t Aze o

SO L

U7 MR B et AR A2
2 Adlale LRLE ofIRolo B StA0| Ju4E Zof

FUEg

3. Ol XREE 7 TiotRlE o PiAs HE 27t 8l

AT,

4 HolE2 ths YH=IE floiM St Aimss Z0[ofat

i

o
PR 32

O &t @ 7t =T
Q@ LEAR @ 23t

D =22 @ 2¥sst Q 258t @ 2Hst
1. ancestor : Q2 Tof| AUE 7HE LAY
2 instrument : IOt HIOISE! 22 S48 B=7| Qfst

=xal
3. nightmare : 04
4 graffiti - EHH| &
20/t I8

5. contract : & & 0|49 AIRME A0]9] SAMRI Y

AnswerKey

2 SO ofLet A= SRUCH
RSO A2 A9 SXVF ER0ltt= As QlAettt

4 LE2 A8 Pet O2|n 0 22 U2 SRQ Ms A
Fofal U,

5 1052 30|12 HXIE 4= A tihof oIt ZAHHIA|
=g

[ati&]

1. not ~any more : G

2 {Not only A but also BYOIN SAte] =
CHAS) EA}

LT o O

ol AR o sigsts maie

coach)ol| YxIAIZICE

~5X| &=Lt (= no more)
(the
was’/t Y9It

‘most 0|C}, the

most= 7HY 0l2k= SKolck

4 AsuchasB:B &2

5. instead of HAHSHA} :

B [aHA]
1. tlojs|=2t 2.9)
2 Ho[xl= He OFES
3 ZA ChAlo] B2

1
z.. 2= tjsol st

4n

1O
FtHl= EEs J2l =

[5H§]

1. his two friends7} 24

A
~ LA

07| m=0ll =& SAt callo]

dore g0l

2. 2750{ not0] Q7| W20l no more= any moreZt E|0]
OF Bttt

3. ~oidof et= B2 instead ofOlCk

4 ‘the most = 7HY 2 oojo|T, THEES[ of Y2 &
812 ‘most 0]Ck

5. '~ 0let= EFE ‘such as O|Ct

» Making Sentence

A 1 A—FS2 09| 7laer ofLjat 19 MES RS Al
AUt
2 10| o Ol RESHA| §d2 M O52 SN AXE H
TSI,
3. 22 O oidlol] 21FolLt 2= OlEsh= OfU o)
of of SFYUCE
4 ZE AZISO0| ot 20X 20| dMl= SX0l= A

X B0 =E

5 =Y UifE9 Jaim|

El= olle7tel OIF0|Lt H2|HE

A0 BHX| malE T

sict

[

Answer Key

17
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CHAPTER 3

R N ETERS

Unit 1. Literature

Vocabulary Preview p.55
A 1.revenge 2. serve 3. break out
4.penname 5.journalist 6. murder
7. destiny 8. lecturer 9. throne
10. witch

B 1.a 2.d 3b 4e 5.cC

& oy
penname Z% serve S5-It
witch OH journalist 7[X}, X22|AE

lecturer ZA, LIt
destiny 24, =3
throne 24f, S4t
article ME7 A
model 2§, 22
compare H|wsHt

revenge =, 2=

break out (T1& SixH) ZHALSHCH
murder 9!

character %2l 84 71A

tragedy Hl=

Reading 1 p.56
1.Q 2.@ 3. 4. ©Q
Visualize the Text
(1) revenge (2) murder
(3) took the throne (4) his uncle

(5) Three witches (6) the evil character

NIAATIIOfQ] (St (UHA)E HIwSHALL L
Ct.

=k
| &= @52 2 7HK| BHofl AHM HIEH

S = SRR
= 22 0/0p[0|T, 240] BEt [0 |QILICE E5H F o2 B
= go| MeliZ mEBILIC J2iLt Z 71K 2 A0IEE UsL
Ch (32hol Y=L dal Yxiuct 19| AZo| Hol=mol ¥

Answer Key

= & S a4 (HH|A) 01
= 7S M AT ADEMES] ZS HSHEILICE Ol HIZ M|
OHA7} SHEHAOA| 219 2H2 Chg &0l == Aol sz
W7| HZJLCE OlA M=ol CHE ISS0] HMHAMA =5

BLICK TRt AL A o101 2001z X A2l 0l
ol (HHAYE CiS

(T
1 © 20 theh 2e20(9] oS 71y 2 LIEHH 427
O (=2 MAATO{9] x[efo] H=0]C,
@ (AH2 Olalfstr |7t o ST
Q@ (D2 (MHA) S SOIEX| 2
@ (UHlA)= MAATIOe] F|1o| HA=0|Ck
220l (U)o FRUI52l M|l A T} ofH

SO0IECH H2eir),

Mol sz A 2

r

AL

§X|

07| t=ol o

2 2 29 revenge?} ol0|7} 71E HIZEE 227
DL QEE @2 @ =2+
revenge= ‘=4, 28’9 onjo|n, So0{2:=

‘vengeance, retaliation’ O|C},

3 ¢ S0l ASo| HEOH =5 o 01RZE 71 EH2 A

o

O Ao HEO0| 29| OMHXIS ZRU7| 0]

@ Ao HEO| HHS =0[241L 37| THZ0f

Q@ 0| Otz &0l =7IE E3H7| =0

@ M| o477} S0 A oES =0(2ta 37| ol
SHE| AF§O|

oA [}

g2y Hamlet learns this from his father’s ghost, so
he decides to take revenge on his uncle.
*(and) so= (OIF, Z2uhE UEH= S? HEA

2 “3aAf of ofojolct



« SAl decide= to EHEME SHOE =L
(NQOT -+ decide taking)
«take revenge on: E451Ck

@EY This is because three witches told Macbeth
his destiny was to be the next king.

SThiss SilA7} ATSUE AS Mefsh 2

= 7t2|ZIct,
«was to bee= (be + to EHAHESCZ (0| &)=
olo|sict,
Reading 2 p.58
1.® 2.@ 3.@ 4 @

Summarize the Text

(1) was the writer

(2) used a pen name

(3) had various jobs

(4) were loved by many people

(5) are very familiar to us

=D

0= ERII2 oie REet 0l=2 70|tk (& 409 2eh2
OFAE ZXHE AtO[0f OF 17| RACH.

02 EYRI2 1835E0] EHOfRIT, 19| AF2 AMFd das
S22HA0[1 0= EQIRI2 a9 HHo|ok O=

ol EHA XmE A-STefAS MM 5 B2 MAZ
2 7INES MR

02 EQIel2 Z1of ™ ol Z2X B2 e AES 7t
)El

— =
RS 0f O QMZOT U HENA0| LUAS o

Jd= &40 2215 IS0l S07F 2T

O =EAICt, ot AEQI T2|1 JARE H3HCy, 2= 0ot
7I6kE MF7E Holmt7 | zol o W2 AfRfS0| 19 0[o7|
=T AE S0

J19| 20l sdote UEE2 SAEA o sk KA
SR 2otk 19 ads glen A2 Hie 84s Tl =
/S & mEE 4 US Aotk HHE Oz AE AR 29
TRl & SENE REZ 510 S22 Eis TS0

AnswerKey

(EXET)
1 % =9 Az FRU7F?

@ o= EQJRI0] 7IE AYS

@ 0t= E90I0] AR T
® 0P IsH= AZEI} Foft 0= EQYO

@ 0i= EQJRle] At T19| AE £9| SY =S

02 EQI9I0] ATt T10] XZ 20| S Q=S| £

= 2ot Ut

® 27t 29| 0[0F7 £ QUAH3H7| mHZ0f
o]

0f2 29012 olop[aHs MZEL Holkty| t2o e B

3 =9 giziol S0iE L2 7K et A2
O OE 2=E 71 @ =&2 X0 U=
Q@ g20l &2 @ Hlzet A2 71
0= EQfele] &AM S&ske QI=0] SXofA A=sta

X

1

o
AASZ OlRE SARHO| Hiet g4 7Hwith a
= o

similar character) =27+ H22 4= 7| HE0ICt

4 9 B0IM =23 4 U= #27
@ oiz Egdole Sals A
@ 0f= E9919| off! AlHS Jfutct
@ 0}3 ERIS L E2 x| 23t
@ oj3 ERI2 S0l22 PSS Yo
5 EQIole [ Mool ZA e T2 MUSS | i
20f, B0/22 FUSS WS ekl 5 4 U

While he was a teenager, Mark Twain worked
as a printer.
s while2 54 TSAE ARF 2AIEE LIEHACH
case AHEE Utz MRINZE ~2A 9| oo
olct,

@& His writing has characters which seem very
real and natural to readers.
s whiche ZANBAFZ)Z HAL charactersE

Answer Key

19
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SALBICE

+seem + YA realdt naturall HEAR S
Ab seem?| Ho{ H&tS it

Unit 2. Psychology

Vocabulary Preview p.61
A 1.scratch 2. hang 3. discover
4. fable 5. protect 6. assault
7. denial 8. relationship 9. defense

10. displacement
B 1e 2d 3a 4c 5.b

& o9

relationship 2t/ discover Z715iC}
scratch 2#Ct HACH
denial 28

fable <3t

hang oigct
probably Ofof

crazy S&0] ot

assault =2t ZA
displacement &ix|, 0=
protect 2S5t
defense 2401

familiar /=5t 2=t
refuse HE[HL]5tCH

violent =201

Reading 1 p.62

1.@ 2.® 3.0 4.Q

Visualize the Text
(1) become a wolf

(3) failed to show

(2) alittle crazy
(4) many patients

(5) assault hospital staff

=D

Ol2ii2 5 T Of} SCHOIZIO) Chal RIsEr Zé@iict a3
2 olop |t Bt 201 B SHEKIR, Cf2IES 9f Srhelio]
SISH0| EH Sti7t Bex| 235 sHAl Kol UBLITE 22
SO BI2 ARISS BET0| SWet 8IS Al QCkn A2
BUCH 152 HEH0| ARES ot Al BAlo| OfUEE BHe

Answer Key

E 2 t
=] —

252 S0l oish 7ot RELct 5 & R =2 282
Is]

ANZE2| S Atofol] AHH0| ACts AE B0F= o At
gUth ofX[2t 22 (a) 2F0IM9| Bt Si7l= H 7KK =22
AMESS efligUn 2820| £H HES2 OE & YEQ
T e O Be SRS 2 HAELICL EoF BXE2 0]
g 2ol HE HEss o SAcke Jefg ERgUn as2
sl ZHH0| =0 OIX| S=XE AHEEs =21 2FRlE
LICE OS2 25 2EZ0 23t 0ldol o= FHE Aol U

EXET)

1 929 2 IRy e 227
D B2 7R Sore He ME

® 57014 Bt G0 ZRY

@ HEFU NS AFE

2 22017F = 7l (a) one study in AustraliaZ 2153t 0|
o

|l 7Es A% | flsiM
@ Y etxtEel S5E d52 ols= S71 flsliM
@ 2E=Z0l ¢et 0jlo] HHlojzks AS s flshM
@ 2520| Aol gets 01E = Atke A E0F

7| ffaiA
220l 2520 Mol Feks 0
[e)

ldz|otel Gt Zuf £ Agsar ek,

XE OAR RAE

3 9| 29 assaulte} 2Joj7} 71 HIZEt [E7?
SZoltt @ Yolsttt @ Hdoltt @ Ersic
assaults ‘2 = X o onjo|T, EoojlE2E

‘attack, raid OJCt,

@B &

® NEES BELO| w50 7S Lyl ik ol

@ x| SeRio] BE Mt gske 2 HEHON
9l

HEEHO0| 2zl Fes F= Aol Het St 77t ot



@& Have you ever wondered why he becomes a
wolf during a full moon?
*have ever wonderede= SIXiE AlMZ2 ZH
= LIEFHCY,
« ZIHOIEE (why he becomes a wolf ~&= &
AFEE wondered®| =ZX0{0]C,
@EY During a full moon, hospitals got twice as
many patients as any other night.
* (A twice as ~as B)= HisA HPICE ‘A= B
of & ti= ~O|Ct of ojojolct,

« Hi4=AHE twice, three times©| SEf= #Ct

Reading 2 p.64

1.0 2.2 3.0 4.3

Summarize the Text

(1) are faced with

(2) is expressing your feeling
(3) protects you from pain

(4) making excuses

f

ghle L J3ol DIRE o o8 SILR? AK, G419] Of
s2 =3 SldE XEloln AARE HS5tE WEES T
1 UEHE ONE S otE EXYUL, X2 Fhlel 4
= HUE 0TVIZ BEchs A0IXIR. (o) HIE S5, 342 Y
oAl 22 o UAsUCE (o) SHXIZH G422 A EolA xR
of s EEeIttH 230 MY AYs &1 UsHC (o)
2t G2 Ao AES o oRdet oM Sfoll EEBILICH
gLl2 7IB0|L EFlA 22 LA U (d) £82 G4 At
AE NECRRE ESoke £ OE St PyYLCE 0lX2 B
20| oSt ZHL LHE dEs 21 2iFske AU G
2 JAS0] A7t of2tn 2o HEUCE ofX[aez A
= o 7F /UELEL ¢ 0l RelofM, Hi1E 67t ZES
M0 Aol MEUCE ofX2 s LIR0| =0| oiEe AU
HPe Z=0] 0] FX| ERUABHCL 224K R AAZ00A
N ZE= OffE SI0| AIZE 7ol 2fa RELICE

AnswerKey

(EXETE)]
1 9 29| refuse?t 2lo|7t 7FA} H|Z8H 2427
@ 7A=stct @ ~91 | 5ict
@ Ztils| ~sHUCH @ A=(aiCh
refuse= "MESICE, ME5ICH 9 20|01, S2l0Z2=

reject, decline, turn down’ O|Ct,

@ 0iPE 20| 451K U=
@ 0PE OfE0| EES 2n AR Tt

IT
@ 0RE 227t HE A0M HE 4 giths XS DR

J

M
ZEE HE 4 G =0 AISE Aol2kn Yoitel=
SOIAIM, XpHO] 7HE 2~ Gl= Chedoll thslt MESH x|
2|3tE Si04, 101 chsll a2fXel fiets Hed ae ¢

AL,

4 2| S0IM TS EX0| S0{L fIXIZ 7+ YBke A=27?
H

=] =
ek A RIS 2

[

LT,

=

LHE2= 0|0{A0f oIt et 01T 2&el L8k2 fIA]

@Y Infact, your mind has ways of dealing with
an unpleasant reality and protecting you.
« dealing®} protecting2 SYAIZ FX|AL of2
=H0o]ct,

€ But you know (that) you will get in trouble if
you express your feelings to him or her.
« thatE2 know =%0{0|Cf, =X01= ALSE M4

At that2 4= 7FSSICt,

Answer Key

21
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- iFE2 I BAER it of Qjojoict,
cif + 30| + SAKEIH), 0 + SAHDIY) © =2
SAFE0IA SHAIMIE OIRIAKIE CHASICE,

@& Denial is another common way to protect

yourself from pain.

«to protecte Al ways Aol SHEAN &
HolC,

- protect A from B : B28E AE ES6ICHX|7|
=)

p.66
A 1. murder 2.throne 3. broke out
4. assault 5. discovered
B 1.0 2.Q 3.D
C 1.denial 2. defense 3. fable
4. destiny 5. revenge
A 1.tohave 2. likely 3. with
4. while 5. be faced
B 1.be-»tobe
2. if --» while
3. by --» with

4. like --» likely

5. faced --» are faced

Making Sentence

A 1. his destiny was to be the next king
2. When the Civil War broke out
3. why he becomes a wolf during a full moon
4. Patients were also more likely to assault

5. You know you will get in trouble

Answer Key

(EXET)

» Vocabulary

A1

L

a N W N =

. denial : 0T HO[ AMEO|

0 AR1 ARI2 Lt RH0| B2 FC
00| Z1 LM 2RH= YIS At
FA0| LTS 1 A2 S0l A AT Ut
Aol ChEt FHOIBH B20| 012 Mo AR=IACH
A F0| TSIRISS Efepilo] MRS SNS wroait
HOBIEE F50| HIZS MIMolSt Yir
Dol @22 QYA @ =3
| BlELS SwRel o Hoiske %S HEsP AR
D BS3CH @ BT @ AU @ T
IRl SRRl TS| BHE B2 QU

O EWINE @UeE QO AMEE @ TS

(@)

HAL EXHSHK| Ses e

=

defense : 2Z022F ARES H5517| {5t sis
fable : EEAQI ne2 F= TSHRI 2 00

. destiny : D[2of 2& Ho| dMSX|E ZFsk= &

. revenge : I[GHE AT AS Hot7| lliM ot &

» English Usage

A [aA]

1
2
3
4

5,

2= 10A01 =25 ZHE[E of

0%
=
0

t
. LIS0l Hal= 201601 el 20 20},

IhERfRl2 2G| 11 (ol 2=sohk| ST,

L= 371 2HIES AEE S B8 HE MAME &

HISIC,

MHERE= M2 ZXet Jotizof AHE A

ol
\J
N

S
o

[at&]

1
2
3
4

|
. HiolE7t Jele S0l =0| 27| ATt

(be to BHADSHOZ oIS <lo|sict
be likely to + SAFRY © ~&F 74 Zrt
be familiar with + SA}F : ~0f] 2l&5iCt

~g 32 onleks AlF F&Aks whileOlTt,

Ol A& et S| EY 7H540] Siict,

SHAl0| ZHEE| TR0l O4st Hekn L BIsiC

ol o B2 ARE 2 A 2ot

=
Sh2 @75 0leF Ze2 MES0| AHSIC




1. {be to be p.p)= be to BECR Jt5&S LIEHHALCE

2 oojy ~&QF off siot= TAL whileO| ERaICH

3 ~of ssict off shEeks ESE be familiar with’
olct

4~ 2 Zh ol shdste B3R be likely to OIC,

5. '~0ll ZHSICY of| si¥el= E32 be faced with' O|Ct,

» Making Sentence

A 1. 0l= M OHAZ} HHlAOIAl 19| RHS TS 20| S

202t iU | thZ YL,

2 HETH0| wels o = A0 FRIER aFS T
SO0 AT

3 K2fE2 off Stieiio| E5E0| £H SO} H=Xl =
zofl sk Ho| ASLIN?

4 SNBSS 0l wo| HE HESSE O S4dclE d
e EXsU

5. ddgoilAl xtele] dYE EEeICtE A2 280 MY
AYS 0 USLCE

CHAPTER 4

Social Studies

Unit 1. Laws

Vocabulary Preview p.71

A 1. commit 2. terrorism 3. offense

4. organization b5.athlete 6. illegal

7. exchange 8. prevent 9. criminal

10. religious
B 1.b 2a 3e 4d 5.c

& ofg

criminal Hx/xt organization 7|7, &%

commit #Hsict exchange wetotct

terrorism H[2i2|5 illegal S¢°|, 28~2l

AnswerKey

religious S %2l athlete 2544
prevent 2{C}, Of&siCt offense ?/2t
ban SX[sict allow &{=5iCt
test A, ZAE crime HZ|
impossible 27t5%t
Reading 1 p.72
1.® 2.© 3.® 4.3

Visualize the Text
(1) steroids (2) prevent steroid
(3) 20,000 high school athlests

(5) 90 days

iﬂl

(4) 30 days

(6) be banned from

St s = Zojoft
I LeF ABHT AHR0IEE 2SM4E0 252 O 2 ¢
o UESE S0 gL SHX2H (o) 2AE2 FIRier A=Y
Ch M22 g2 15k 23445 Moo AHZ0IE AE

ofigisty| el ZEENRSUCE AH, EIAATE (b) 255 ¢

2
3r
A
A
2
x
P
4
m
’>
!
=
>
o

>
£
in]

£ SSM450] 30Y 7t 252 Bl 20| HRE 242 AY
LIk & @ 9IS 518, 1SS 902 7t 252 4 ¢S
QLT Al BT () SIS 51 S 3= A

(EXEF)

1 ¢ 29 g5 I 2201 7127 [= W&ol 22X MR|01T A

=7

@ (a) — AHIROI= @ (b) - D58 RSNE
® (c) - wAIXI 2203 @ (d) — {8t

(c) It2 Texas's high school testing program 7t2|7|
= Zo|ct,

Answer Key

23



2 2 29| bannedt QJo|7t 7+& HIsBt 227
O L3t @ SXEIcE @ 7|1ARMC
ban2 'ZXA[stet o olojo|T, S2loi2&= ‘prohibit,
forbid OICk

3 9 29 giziol 0 L2 I Y2 22
O AHIZ0|E ALES 27| PfoliA]
© #O*O HEXIX| 47| oA

2 A2 fXlet7| SBiA]

740

@ TEHRl 2EE G| *leiM

4 %29 U8oz FE Y 4 U= A2Y

O nsstu o] gty whzoll M=2 #0| Snt=7l= oFt,

@ HAA FHREE XK 23059 U HRIE 32
STt

Q@ AH=Z0E HAES J71Y 2 EHlE HI80] UF HIMc
= 0|

@ HINAS] ISt 2SMeEE AHZ0E HAES B
= 27t itk

AHZ0|E HAE SHH St=0 10Z20IM 17562217

t
- Af = UWE2e2 HIAE HIE0| &F35] HIMCE = 2
o
=]

=
=
=
=

& The new law was made to prevent steroid
use among high school athletes.
+ was made= A £~SEHO|CE
«to prevent= EFAE SXZ LIEMHDE (= in

order to prevent)

@EY 1t will make more than 20,000 high school
athletes take a test for steroids.
*make + A0 + SHE0] : AIFSA

ASHRAZ 2HHZ M0}

« takee HFEEHAZ makell 2XHE0M0]C

f makee=

@Y For the third one, they will be banned from
playing sports games ever again.
+ will be banned= DI2HAX| s~SEHO[CH
+ they will be banned from playing ~ = -+ will
ban them from playing ~

Answer Key

Reading 2 p.74

1.® 2.0 3.3 4.Q

Summarize the Text

(1) the second largest

(2) 188 member countries

(3) in Lyon

(4) exchange information

(5) drug dealing and terrorism

(6) illegal to get involved in

=D

7|RE SEM QIEE0 Chell Tessl =AINR?
QIEIZ 27 S220|%. 2HE2 IMIAEE7 | (nternational
Criminal Police Organization)& SS&iLICH QIHES RAUS H|
QletmE MMM 71 2 ZAPZIF0IXIR, 2010E M=, 2l
EE2 188712 sl@=2 EFotn JELLCH J2ln 2R = =
FA9| 2[30] UBLILE 7IE2XC=Z QEER ME CE =710
Mol ZE0| M2 Eels AE S&LLL FAE! HAxE2
MZ CIE OIEZE 3|RZ0N B2 HEES HXZXR, BE 3
F=E2 0| FAIEQ! HAKISS Aot | flsh M2 X*E% il

A0 27k se =

BHEUCE (o) 22X] oW I5S &= 2

S RACH
2 % = 27 (a)oll 7rY Y82 AEo=?
@ =22 O 3=k fed
QOE ST O Z2 gee=z
HIZt (a)9] AHLHES =HER! HAXEE 7] floiM EE



AnswerKey

wetg fitf = W80l Bi7t O Tss TR 2%
24 0Jaks LKSOICE maky glztol LHge gio e mat religious matters.
S SFX| Qr=ChH 0] 74A MEsict . it2 71504, (o get involved in ~)= TIE=0{0]Ct
+ get involved in + AL ~0i #o{sict
3 QIEFoll o5tH, AMMO| OFIZI2?
@ QEHEZ MAIIA & Bz 2 =X|7|-0]ct,
© 2sY, TFH YA 71E 25 ZAER! HE|o|C,
® Qlefe ofer 42, Hefels, B2 wall ciasior v NIt 2. Social Issues
2ct
@ QIEIZ9] S|l =7IE2 1807H olAolC, Vocabulary Preview p.77
¢ 20IM, QIEIE0| HAIA, £= ZuXRl 2xof chsl 4
Qlste S ST T AFEACE A 1. Dbully 2. pastry
3. vending machine 4. chip
4 2|2 HIZH(p)ofl 7HE AT U2 ] )
® Of=A| 5101 OIE{= 90| & 2 9JLIe? 5. responsible 6. obesity
@ QIEES ofl BRO| YIS sfsle XS BUK? 7. fried 8. laugh at
@ ol eiz0] Bofale %ol of BERITIR? 9. junk food 10. yell
SHECI AT B7161 UE 01RE RAIIR? B 1.b 2.d 3.c 4e b5.a
—_ ] [«) AN T A .
gzt ()20l thet g2 =xIXel YIS siZatr| ¢
off =l 0| e Hol=XIE HdF stn A==z H & ojg]
ge @wolct N o ,
vending machine AISH0H7|  obesity HI2t
junk food #3 = bully Z&Esk= Al
-l?- S Ad =1= . = [
yell &kx|cH responsible X|=
@ Interpol is the world’s largest international laugh at BIXH, £Soict pastry Ho|~=e]
o ied 7|50] 17! ip 7153 2] 4 2%} 52
organization, except for the UN. fried 7|80l = chip 7tz 2 e
id m/siC] n2C} MERSH
«except for + BAKA) : AZ HM_lstn avoid ettt Ch(,)ose . e
scream H|ES X2C} quiet =5t

« FAl0] 71y 2 =A 7I70[a, QEE2 F B

guidance x|, MLy
2k= 2jojo]c,

@ All of the member countries exchange Reading 1 078

information to catch these international

criminals. 1.0 2. 3.@ 4 D

«exchange information2 HEE wSlsiCt 9
|

£50]11, information2 RHEA = 20| =

Visualize the Text

Ikt (NOT in ioRs) (1) many countries (2) fast food
10 calch RBAIR X(~317| 2I510)S Lief (®) video games @ better food
LHC} (5) the vending machines (6) exercise

@ We help the police find hackers or people

who make computer viruses.

f

+help + SA0| + SAE(FFFEHAL to FHAD KA H|DI2 Tk gl A 2 2XI7{2[0|C} (3) H|OKS B
* who= BALHEALZ BAL peopleE AIMCE 22 BHE 2oz 4 Q7| mi2of Aztst 2H0lch ofZlolS2
THEC} O 2| S22 SAES "o Q1 252 HE 4 HE

@& Butitisillegal to get involved in political or

Answer Key
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2 91 39| guidancet olo[7} 7k Bl 2427
DED QY Q@ Fo @HY

A
guidance= X, 7tol=atel o onjol1, SooZ2=

‘advice, tip OlCt,

3 % 29 U81 LX[6IK] = A2?

@ Op0IS2 252 oK 41 Tl HIC|R AIYS itk

© Sfuet £2i= 0201S0| HLTI=S =202t Bl

Q@ OplE2 MAERERN F3 RE 22 710l S22 5
Al HFLE Bol H=Ct

@ 19| ofEloP @529 OfZI0ED} sz SAS O
0| Hu 2E2 of XA 3t

fA9] O{2l0IS0] 2=E9 020|120t S22 SAE o

Al Ha, 255 o Wl o,

4 2| 20ilM g 280l S0iE fIX
HP:J% oro 7<|7|» 09
=Alo]Ct,

Z0iZl 2FS HlgtoR 915t A2iEt Zuf 0|1, HIBke| £

Qo] == WES0] (a) OIFFE HMAIECD) w2t 0

Answer Key

Yol Yot ?IXl= (a)0lCt,

@Y They like to play video games like Play Station,

HO

be in front of the computer, or watch TV.
*to play, be, watch= SAt likeQ 2X0{0|1, S

Q| EEAL orof HZEIC
@EY In the past, children ate less bad food and

exercised more than children today.

+ A less E2At and more than B : g E8

@& They need to learn to eat better food and
avoid snacks.
«to learn2 SAt need?| SX0{o|Ct,
+to eatit (to) avoide= learn| =X0{0f o

et
Lt E8ME A9 €40] 7| whzoll =X0E

Reading 2 p.80

1.0® 2.9 3.3 4.Q

Summarize the Text

(1) was not popular

(2) did not want to play baseball
(3) he could run fast

(4) let him play with them

=D

OfE2 1240[CE, 2= SFAPE &5 ©ol L7k I7)7F g2
T AT (a) 2= OFE I SOfSHAIRE Stwo| THE 00|
== 2u2 1% 20| F7(5k H0{SkA| HRACh =2 st
MZZ0IACE. (b) 2= e OfEE ISR 2= XL O
2 HIRen, “(c) U= 0FE sV [l U SSall. 7ixidz" 2t
1 2RiTE 7HE (d) 2= OElE m2l7|= ok o2 0ie =
‘et Ofo|RAC,

(B) ol &, & F| XI0I0[S0] OFFE i AT, DiE=2
OFFLE0ll Z0f Sttt O= TR I ZYS B 4US 20
UCH 20| DIEE 2UCh 7iM, 0] SEOH” sf J= A2l
Cf. “Zaf, o7IM Ll He SSok 2ot sfa ChE Of



S efoll ZoIRICE oS A3 midFXL o ¥ 2

, = . 02 SO0tMM R0 DfE2 SSak &
of we| R0 22 2 7700l UMUK, J= oiEE T
- QURICH DIE2 O H7IEE Ml BiFILE SUTL Ml B
= I, O 2= 0l0IS2 & o020 M UACE "2 Ot
SO| & T2 7ol sl DHEl2 230t "T2e2il Ok ZRUCH,

O™ 5l 20| AR

=1

(C) 2 ¢ A=2|X|of, & CH2 0f0[S0] A2IRC "Hatu? 2

oM ' SEY H0[0k 5t 2lo] FUCE

Y 4 lof, 22 17t 22

NN
Jofe g2 e F

2ol Soi2Z 2" 250 L3

b

‘H3lIS2 2 ofUH L OFE & 4 01 2| = Of stl=
Roll. MBS 20] ARt LA, e DIES AJEE 7ot
JI2f" 50| L9UCE 02 0FE Siw, 22 ChAls 25 o
2IX] Ut

EEER)

1

? 29 €= I R0l X WR|01T R[2?

@ ol @2
Q= @ g
(c) YouE Rick(2))0| ot Martin(OtE)g 7t2|ZIct,
2 29| laughed at(HIRTHT o|o|7h 7+ dlzst 2427
@ Mct @ Hzkict
Q@ ==t HIRT @ FICH
laugh at2 HIRCE 9] 2Jojo]x, S2/HZ= ‘make fun of
ridicule’ O|ct,
OHEI0] OF&0] Zoj2 OlR=2 71 Yok 227
O 2= 2o MRIIE 2t
@ 1= 0FF F7| 51712 &3t
Q@ 1= 0F F7| B Zis it
@ O o2 AES0| 0l 27| ok ZS 2lokK| it
OfElo] oFL&joll ZoiR 0lRE ©X| 2 of Z7IE 21 A
A7| w=2olct,
&

E
1
gl
I
=

AnswerKey

G You are too fat to play baseball.

Yo LRahA B 4 gl o

R

* {too ~ to -
olct,

= You are so fat that you can't play baseball.

@ He only wanted to watch the game.
« SAb wante to BYAE SE0Z 0 (NOT-
wanted watehing )

@& ‘Don’t touch him, Rick!” yelled the other kids.

0 ‘:'EE'S'%'?—E—S do notldon't}E 2% o 2ol 204

~alX| of2t =2 ‘~alX| DR 2= X9
LEFACE,

Unit 3. Global Issues

Vocabulary Preview p.83

A 1. disaster 2. sea level

3.rescue 4. environment
5. trap 6. underground
7.volunteer 8. temperature
9. polar 10. thrilling

B 1.d 2c¢ 3.b 4.e 5.a

& oy

rescue T-=(71=)5Ct
disaster X

trap 7I5Ck 2|tk

sea level sff<~H

volunteer AFHSAK}
thrilling =8, SE&k=
polar S=3{==]2],

underground X5t
environment 24 temperature 7|2
save TI&o|Ct injury 24, TlsH
urgent 71gef melt =Cf, =0Ict

hazard ¢/

Answer Key

27
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Reading 1 p.84

1.3 2.0 3.0 4 @

Visualize the Text
(1) trap heat (2) temperature
(3) are melting (4) arerising

(5) Electric cars

(251

(C) X9 &E2 B2 9

(6) replace

]
2
ilal
=
Q'E
Kl
30
o>
L
o
fo
0g
ro
ﬂ

2

o}
of A1 24 & o=z, 55| ASAtet SHe2RH UE 7t
ATt QEHYLLE 0] 7IAS2 KT 77100] E5 7150 F=
dl, o Slg2 =agf 2tu SguUrh XFe| 7122 d&oi
AL 3 Zuz 2 LS0| Lo AL,

(A) OIE S5, =Xl €30| =11 AT 0l= I Roff At
= s==0| 2 M2 #= Utt= A 2DIgiin), AlC7t ot
SHE OJHEC S5 5ot UAsUCEL +8 A Ajojof, &
Z0F AW AL 22 Sfielo] Uz EAISES S0l FHH HE
S AGHT

(B) 2L, ANFE2 =HIE sidsh| floi =Hote UASHT
| SAhE dize 71A9 s E0E AYUTh Eof B2
ANEE2 By SH2 AEste ULt VL ol &8
off OFF si=2 AMEu A4RE UXE -~ UAS AYUUC S
L=20| ACH, 2= 2|9 XS Tl THRSHA 2E 4~ /U
gt

(EX T
1 %22 FH=z 71 Lo A2?
O fIgget xXiFtel &4
@ OolHX| =H|2| Cret oIS
H

© 2= nto| Holnt sizx

~

e FERS
@ 2SS siiEsh| flet AFEL =
¢l 22 2AEe| el Zut siALRr off et Zolct

2 ¢ 29| hazardset O|0|7t 7H& HIZst 2427
D HEE @718 Q7s8E @ S2YUs
hazard= ‘?I& © ©Jn|o|1, S°0{2&= danger, risk,

threat, peril O|Ct.

Answer Key
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9

A 29 &M= (O 29 =Yz 24519 #fIs H|
1ol Zatof o (

k=2 )
thst AME0| =2{o2 0]o{x{of XtHAZCE

@Y This means (that) animals <that live there>
may soon be gone.
« (that)22 SAF meansl =X0{0|Ct =ZX0{0]
AEE HEAF thatS A=k 7KsSotCh
« {that live ~)2 ZACHEAEZ HAF animalsS

LAlBIC

5
2
=

@ One day, this could replace coal and oil,
which are very harmful to the environment.
«whiche ZALHEAL AEX 830 1, Melii=
coal and oil0|ct,
@& The Earth’s temperature is rising, and many

things are happening as a result.

« SAtis rising, are happening2 il T84 Al

Hlojck,
Reading 2 p.86
1.@ 2.0 3.9 4.0

Summarize the Text

(1) drew the world’s attention
(2) got trapped in

(3) tried to save miners

(4) spent time on building

(5) were saved after 69 days

(6) was thrilling day

=D

(B) 2010 Zaflo] &t tish= & MA AlES #dE BUE
LICh 3382l 550] 2,0000E X[ote] &= S7foll Z5|A =
[m]
[k

UASULE H2 Kok ol Z5iM, 252
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(A) W2t MAE o] FRES F&o/| #fsh M=210

ol
T

40 ¥
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fjo

L

i
ot

Cf o MAIQ TfetikiEnt 7sxtge 158 TolV| ¢
affoF of X| Z%oty| lehA HHUSLICE LT, =, of=3l
E|Lt HOtZa|7IE It LIgtS0] AHESAKE 7Is, =
2 XEeiEHL FRAER as0A g2t 7IAES V1=
(oAl =i PN IPNFd === |l
(C) 1 3¢ L2 NASAKIEE BFS0| MEg |2 4 A
CE GMoE SAZ ZoIFUsU I Xlotof Zel X| 69 Tt
0, 2= &2S0| ORI PREUSLICE T G2 MAl 2& 0]
S0 712 SEEQAISLICL T2(11 O A2 ANHE0| s o
o 2 4 As US HoRUSLIC
(EEER)
1 03 & ¢ 22 71 & LEflis £5827
@ 2 MZeiE 1 dsstzl (Shtele {50 Auzt)
© HIXYE =M o)
@ afi7t vIE o AxE Y2det (7137t 2 o Totet)
@ AZB0| o vt ACZ ZiT)
Zellof Fitoll 2 QU= 33F9 HEES W2 AIRHE0| ¥
SollM F&ot= UISOICE wet 2 20 718 MEet &5
2 HXEE S St oIt
2 2| 29 urgentet 2|7t 7HY HIZeE 2427
@ LHYZR =25t © =35 oR U=
® 7iget @ motet
urgente= 718t Algst 2 Qoo SHEE=
‘oressing’ 0]Ct
3 ¢ =29 st IXI6K| Y= Ae?
@ 2ol o Mel= & MA| AlHES] Eals BACH
© TSR] ARES FAs| fll RS X 2F
57| SIehAM ?jﬂéﬂif
@ FxAE2 as0i Heot JEE 7I=stl BEEA
AlZHE 2T
@ 2E H2E2 Xstoll 69YS ' Fofl nigU FLxg]
At
WSIXIEE VIEXEn e ERES F&o| oM M2
SHIUCE
L 2| 22 YU AR Liget W27
(B)OIA 2010 &4k Xifahol| CHet MOl AVHE oF CHS
(AN OS2 2t 7= A=, oIXgez (C)ullN 7= &

AnswerKey

1joi| thet LiEez

@& Scientists and engineers from all over the

T7H=|0f0F XIHAFC,

globe worked together to decide what to do

to save them.

o decides= REAZE =X(~317] fI5i0)S Lt
EHACE

*what to do= Sl2ALE decide?| =SX0{0]Ct,

EEY Rescuers spent time on planning and

building the machines that they needed.

* spent + AIZHA) + (on) ~ing(B) : Bsk=tll Azt
= AlZIS ELUCE

«that2 HAHBASXZ)Z FAF the machines
2 AT

@ Trapped in the deep underground mine,
they faced many dangers.
«(Trapped ~, =0 + SAh= 5 2AHER
2 being0| 2= RACE,

= As they were trapped in the deep ~

Unit 4. Ethics

Vocabulary Preview p.89

A 1.depression 2.take action 3. guideline

4. tend to 5. murder 6. anxiety

7. explanation 8. suicide 9. ruin
10. bystander

B 1.a 2c¢ 3.e 4b 5.d

% ofy

ruin Yx[ct guideline X7

anxiety 214, £¢t
suicide xHat

bystander &2t

depression 22

take action Z=X|E F[ofCt
murder &9l AfH

tend to Z&0| {ACt

monitor S}H, ZLIE]

explanation 4%
hateful ®2A2iz
private AFR2, 71219
hesitate FX{sICt, Z-A0|Ct

victim T[al{Af, Sllx}

Answer Key

29



Reading 1 p.90

1.@ 2.0 3.3 4.Q

Visualize the Text
(1) Hateful messages (2) suicide
(3) telling (4) set guidelines

(5) a public place

2| 25 L1 ARO[, AMo|H Z22 QEUoM Aziet =HIY
Lot EAIEYS B2 7ISE AKX} B2 MEEC 4=

nfastl s 0] 2= OlE MoliIM & o H2Ei
)

Ct 22| 0l0|E2 st 70l st AR HEZLCE (a) 2
S22 CI2 ARIEQ| ARl AR S-UCE K= BER2A 22
7t (b) O] 2XIE CHR0{0F SHotm MZIghCE o2 RAUECHE,
22l= ololSolAl Aol ZHo| sh=2 FEoll thslf 7t=xot
LICE AfolH 222 IEiXiES 22 225, AE:A, o
AR0l= Ahato] Aslofl XMakAl ELCh 2al= £S5t oto[So|A|
50| (c) JA0ll thelet s Fe 4 Urte XS 7IEA
Of ELCt o2 Y, Aol E=2 EfS 1ff Mo} B2
HE0iA olop[ahHA AT 2HE olUE 4 UsLch 22/ of
0|S29| org Qlll P2k= QHUW &30l st XIFES Hatok
gLch a50| 22fRIoA HEA ARIS ELE=X| 0loF7 6k
A= EGULCH DEXRe 2, 22l= 7HY UolN AREE S
21 0f Fo{oF BiLICE 0|2 HHoz 2= (d) 2150| 2ef¢!
Ol Z2E Jl6tALE 5t U=RIE ZAR & sl
(EEER)
1 929 FH=Z 7+ gake Z42?

@ Aol ZHoll= 22 X! FES0| ULt

© Ol0IE2 2XIM QIELlES AtEsHH of EICt

Q@ BRE2 Af0|H Z2E Sh= 0[S0l HS ot sict

@ 22E2 Ao|H ZHE ofystr| 2fsh of2f 7IXIE & &

QAL
2 22 AMold Z29| NS ATsHHA XHAS0| AfO]
Z0| IRt LKA El= S ollsty| st & 4

= YES HFotn Uck
2 2 29 2= 7 22N 27 k= e R ®X|El A

=7

@ (a) - BZE

Answer Key

3 920 Uit URIBH 2 227
D $PE2 001S2 93 QI XIZIS FaHoF it
@ ZFEN= 7HADH 22 FA0| U0joF BiT
@ 2252 0j0|S9| 2a01 FSS BILAR XA}

Bict,

@ OIS Aols) 20| =2 HIS U0} it
S0l ARt B A7 S71= 22f0l B0 thaf Ol
Oplstn, HREIS Of2f A0l BV AZ5t= R0l £ %S
Zottn Ik AfAS) 220l BSS HILARH xR
%2 olgeinl YUt

4 9120 Bizio] SoiZ U I ke 427
@ oloIS9| 8% 52US s
@ 22| ofo|S9| oIS SUs
@ zRST 22 WAS <
@ oloIS| FN LS 2Usf
417+ O30 LISSS 00IS0| ORIZ IsiAl sfof 2 A
ol = S0| StF=RITt

@& We should also teach them that they can
take action against it.
« 201 + SAkteach) + ZFESE0{(them) + =
S=X0](that &)
* 23 should= ~ofiof Sif 2fs o2 e
of O|FE LIEFHTY,

*take action : ~0i| CHatd =X

i
D
ol
o

@ Talking about how they are spending their
time online would be great.
- 289| F0i= SFA} Talking0l SAk= would
beOlLCt,
« ZFOI22 (how they are spending their time
online)2 TXIAL aboute] =X0{0|Ct,



Reading 2 p.92

1.0 2.0 3.0 4 @

Summarize the Text

(1) the bystander effect

(2) someone in trouble

(3) There are some reasons
(4) feel less responsible

(5) do like everyone else

(6) if they try to help

f

M2 MEE2 so7PF 845 ot AT ARIE0| A
o2t Y&LCE a2fut WAt 5uF ol EH 252 J2X|
e o= ASHCL 0[H2 B2 ARHS0| ZHol XMet AFs
SZSHAIZE Z0] chsll OFRE= O ASE FIotk| S HE
LTt 1964101 Lof 7[E| M|=H|AS] Moz AL Suto]
TS o2 SFE0f B HeblAs 72 20N HE
o 3AS UL J= °F 3027t HIES AHEUCL 23S
2 MEER2 247t £& U7X Ol A= SHA| 2IUtELHTE oE

= [ESPVN=]
A 2s2 A7l ﬂ@ AEE 5 B2 # %'%77}9[? = Hel

0] % =)
e
LICk CIZ 09E ois2ol AYSS 22| 40| C}2 ARISK
S=o17| H2LLIC 210} 012E TisHKIS S| o=ried it
A LERIE S5 S PAY 4 QL oixjzes, pe
NSS T50| =9ixa & f of Uo| UoILKIS FAYE

1 ¢ 2=z 7hy L5z A2
H

*ﬂdf izt FRUT?

AL

OI5701l CHaHA ’S%’i‘of U= 20T,

2 ¢ 29 hesitate to(FX5
@ 717{0| ~aict

AnswerKey

3 ¢ =9 YWkt o] ofet dHo=2 2X| Y2 A=2?
O MFE2 =30| B0l Ly[X| ¢2 4= Uk
@ MHEE2 TE MEHEXE diSsie d&ol AUt
QO MHE2 TEHRE HEA =2 4 A=Kl 6| =

eict,

@ NHS2 TE M| IEHAE == A0|2k M2ietct
YA FikE OE A0l I6EIXE =2 A Ol2ks 42,
OE AIRFEE I6HIAE Sl o=z Jsn 22 452
Tz He, £ I6iiE =2 F o5 S7ksth 2ol ¢
ofd o Utt= d =0l 2o,

4 9 29| gzl S0id L= JiY Y= A2?
O Lot B2 AZS0| a0 AU=7t
@ Al HeHIAE AL HIHS 2=t
Q@ ol == HeHIAS SAMYETT
@ OfEA| 21710l Xt AHE K| %S & U7t

NESO 7IE| A=HIAZ SX| 942 0f2f 74| 0IR7} BiZt
il OIOIXISR, BiZloll= OIEA| AIRKSO| SI710f X3 Af

=S X Y2 4 AT E 2= 20| S0710F etk

@ Most people believe that they will help if
someone is being attacked.
« thatE2 BAEZ believel| SX0{0]Ct,

i A7l RARER ~SICIE! o ojujolct

== ey

«is being attackede= SIA T3S 4~=EHO|C

@Y The murder of Kitty Genovese in 1964 has
been studied as a famous example of the
bystander effect.

- has been studiede= A= 5
= Z0{ + has(have) studied the murder of
Kitty Genovese in 1964 as a famous~.

EHOICH,

Answer Key

31
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p.94

A 1.rescued 2. commit 3. explanation

4. hesitate 5. laugh at
B 1.@® 2.0 3.©
C 1.suicide 2. criminal 3. disaster

4. athlete 5. obesity
A 1.Born 2. will be analyzed  3.do

. to think 5. which

B 1. will hear --» will be heard

. wearing - to wear

. that --» which

N WO N = N =

. Surprising --» Surprised

5. kept - keep

Making Sentence

A

1. will not be allowed to play sports

2. All of the member countries exchange
information

3. should push kids to play sports

4. which are very harmful to the environment

5. Talking about how they are spending their

time online

EXER)

» Vocabulary

A

B 1

.-'-\.WN.—‘

XEl MEXISS HalZEz AR

. OIXI=0] ‘—*KI—EE% E &WI ZIg gelttn H2Ect

o T e p—
242 ZMsIX| ola

olgal= 37t 0fsHatxl RahAl CHE ofolS0| 142
HIRS 212 SaiS3ic

DEAE 5| Yt ZAIZ Fste 20| FRsC)

Answer Key

. suicide : O A1 4IX| QOIM AAZ =2 #S
. criminal 1 YZIE MX=2s 2ol HFE A

. disaster : 84x1E ROl 7{Ctet T[6HE = 0
athlete : 2& Z7101M Zdch= Al

. obesity 1 Z1ZBIX| 47 OHS 0] I AJEf

O N WON =

» English Usage

A

[5HAd]

1. 720l Woftr| 20| A= 722 o ZOofeich.

2. GiExAfe| Zuprt 2AE ol

3 AHgts 2% 3A| FZ7HK| YolOf2h S

4 DE NE2 SA| 023t EXIS0l el Azher Heot
ATt

5. ©4I0| oot e SiXt=

[5HA]

. SEEARE Being born0iM Being0| A2k iCt

2 GiEXA dupt 2AEl= 240122 Oj2iAIN ~SEfR!

roh

rr

sah 2ot

‘will be analyzed 7t &SCt
3 ZEAL Flolz BIEAl SARESE 20k W2t 'should
do 7} Yok H3iolct,
4 need’t 2SAIZ MEE [ to BEYAE X012 Zh=Ct,
5. AMSIAIZL the chair0|Z2 ZACHHAL which?t 24}
HB0IC

F\FLI 0

[stA]

L IR2 SEOIM AL

1. O]2HAIR $SE) EHOZ will be heardZt LTt (will
be p.p.)
2 neede= to B2EAME SX0E 2= (need to wear)
3 BAUEA that2 AlLA YR MSEX| =L
which7} &8¢
g

2 HBOICt
4 ANO| 2R =2 Mefolsz, ASEATRSO| ol



AnswerKey

Reading 1 p.100

T o
o9
=
[¢)
[©)
=2
=
r
o
S
o
n

1.@ 2.9 3.@ 4 @

Visualize the Text
A1 i|§9| 2{2Ho] oMz 2sMe=0] 30 7

o
0

o
ol

(1) ice rings (2) 95 Earths (3) hydrogen
(4) 175 degrees (5) 11 hours (6) 30 years

2 =HHel HEXES g/Ash| floll 2 slE=Es2 M2

Huig Deisic
3 slmel 2RSS 0j0|S0| ARX HJ|E 5l 252 o m
BO0] 4 Q=S SHIROF B, Eiziol 1 20122 3y B0l silis BN, E42 1
4 Ol= B0 OfF sllZR AEu MRS X » UAS zo|Z SpMT QL= AACHst 9S Ta|2 SO BrYzS
Agq Sof IS 2 4 UBLICL %S 58 BYHOE Kl
5. 150| ==ol0IM OfE A Alzis BRI OP7IStE A syt xiusict mapk E4oiAis Bi20f 1A QgL
o EsHn 012 Ol2olls, ENS & w2 2 HAULCE 1% LR 7
K X0l 9ol AL LIZILICH 3t (a) O] 340l F42
HEHORRE| 63 ZR0JEILE BLICE (b) 0] 340] HcHiEt 27|
Ol= BRSHD, IS HTiE Aol S A= sich oA
CHAPTER 5 HIZ (c) O] 34J0| TR JIH2 OIR0PEY| 2L bl
TH OIR0{E! 30| YUXIDL 0] Aol iR Sact WS,
Science T O2 JRISR 0|R0iFELIC, E5t 0] @y 2L ofe
ST, (d) IS A Fat 175 Uizt 4 s
01242 EN0| EHiYORRE 1P 7| URYULICL A B
Unit 1. Astronomy zolg st ool o 30800] ZRLC
(EEETF)
Vocabulary Preview p.99
1 920 2xjo2 I YIS 227
A 1.solid 2. simulator @ 7ciet 25 O1AS 2ok | 2ol
@ E4°| 2 7HX| S42 M| 9k

3. solar system 4. hydrogen

5. float 6. exhibition 7. axis

8. firsthand 9. core 10. rotate
B 1.¢c 2a 3d 4e 5D

il o
@ M| B xSk sl
@ B2 B 27 JIBES 21 %0
£20|= EfYA 2l =0 tiet & ViX| =22 Sdss &

%46}1 UL,

2 % S0IM B0l et 2oz 2X| g A2

& oA D ENS T2 7IH2 0lZ0fEt

solar system Ef 4] axis & @ Ed2 XITt FA12] 90th o] 4ot

core iy, & float M7 iCk @ EANES Ef2UAQ 1At 2L aliAfo|Ct

solid =&ef, X9 rotate 2/%45iCt @ EANS Ejofo| =92 = [ oF 301H0| Zalch
e.XhlblUOIl HAl=] simulator =202} Tx| EX0| XRECH 95HY SACH= IZS QX|BE EfAHOIM
firsthand %1%, Hi= hydrogeil #"_ ) 1R SIS X|0l Chst o1ZS airt

surround S2{MC, Of 2IMcH surface #H HZ

revolve Etf, 51%5iCt pretend ~¢! Zsict 3 9 29 viziol 0 L2 T MESt 220

affect Yfg DIXICH @ ~0il ZheliA @ ~iZ0]

Answer Key 33
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@~0l= 275k @ ~0leloll=
Hizh oF Saie Aol B127t 11AZI0l glct = EAY)
Sxof 2ot Z0ln, YIztof il BA ot el 3
71 off 28 LKROICE w2ty ¥IZH2 In addilion to(~0l2lof
)7+ Bisict

4§29 25 2 %ow 7+a|7|5 40| THE BiLE=?

@Y 1tis so big that it weighs as much as 95 Earths!
*S0 + YEAL + that 0| + SAL 1 HE ~sliA]

...5Hz|.
*(as much as -H= UF -He XX %

Ao Loz R2 US LiEH = HES0|C]

@EY Despite its enormous size, it could float on a
big body of water!
* Despite + HAt : despitee TXIAR ~Ofl= &
ot 9f S20ILk (= in spite of + BAP

@& In fact, it takes about 30 years to revolve

around the sun.

« (it takes + (M) + ARE+ to SAHEEH2 Al
S UEl= H30]1 552 ~ok=t| AlZtol 2

2Ictk olct,

Reading 2 p.102

1.@ 2.0 3.@ 4.9

Summarize the Text

(1)a science museum

(2) the flight simulator

(3) my weight changed

(4) different levels of gravity

(5) Getting firsthand experience

T g gEdoM 25 HASE FEoll SO0RIR! M3
= oM 7z PMES EU0R. J2|nE FE9| 50

Answer Key

oot g B [8e R0, ool a0IM AMPE 7Y
Z0lole &2 HUA0IR! T3 0FF =2k2 7Hd HIA7 IR0l
I flollM, Me OE ddE2 s =Edhe s Woie.
7Hg SIRE A2 e AES0IM M SFAITE EeitkE HRA0]
2 2t #yol 2 O ti=21, X2 A0 gEgE T4
(a) Z22hM M= siiddold B 22 2 dgoMe XF0ME
Ct S2A7F %0| LR, (b) At S4oilMd= #9| 1002=
0| HRALGLCH XM= M SFAE 4122800 o
g, o A7I0IL. (o) 2hdold Saut 22 X2 Mol
= A= 2022035 OF LR, (d) A, EoilM= 10223
e oiEEHAEe S0IEAIE 01£ AHIM= M SFAIE EE

of =201 =L, LS

F\O
o
>

1 4

2 ¢ 29 pretended?t 0|7} 71& H|ZEt H27?
@ Jd3tt @ st @ A&t @ Tyt
pretendis ~Q! HGICH ~2k0 AAMSICE of ojojol1, S2

O{2E imagine, suppose, make believe O|Ct,

3 02 & ? 20 d2=X] g2 #5527
=7 M7 @ 2of &M 27|
Q@ 7h HI7| Ef7| @ HH| 254 27
¢ 20iM M RFUS BUCF 2le U822 =X &

AL

4 9130 124mel Yxisix| e 2HE?

220(9] BRAI7F 30N 16kg, 2A0IA 38kgoliea
22 T2 WHOIAE 20kg
2 J12fIet AX[SHA| =L

Hu
o

2E9] §).Mo|al— =41 Z

E 2 LIZOR 2= UWE2

@Y ThenIhad a chance to watch a movie about
the first space shuttles.
*have a chance to ~ : ~

The coolest thing was that my weight changed
201 =10




on different planets!
* The coolest thing2 2MZE LiEt
« thatZ2 ZAEZ 20IM 20 oitt,

=

=

|0

@ Interestingly, there were no two planets on
which I weighed the same.
son whiche= (XA} + BACHEADZ M}
two planetsE Al
+= ~ two planets which | weighted the same
on

Unit 2. Life Science

Vocabulary Preview p.105

A 1. barrier 2. sea star 3. cancer
4.resemble 5. mollusk 6. threat
7. cell 8. shallow 9. sense

10. pollutant
B 1.b 2c¢ 3e 4a 5d

2 o3|

shallow &2
mollusk HHSE

resemble Tt

barrier &=

sea star 27fAl2]

sense ZA[siCf, =77|Ck
pollutant @F 24, A2
habitat A4/X]

limb Z{C2l], ALX|

cancer &
cell M=

threat ¢&, &=}

rd

fascinating 0f2%21 0|22
cling 7&lSiC] ofgelt

injure £ ALt

Reading 1 p.106

1.@ 2.@ 3.@ 4 @

Visualize the Text
(1) sandy sea floor (2) brain
(3) eye spots (4) new limb

(5) pollutants (6) global warming

AnswerKey
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O 27tA2le) =22 5385
@ =7fAl2le] Eat 2l
Q@ Ho2BH 5= =729 &84
@ =7MAf2[of oot X7=Hterel Hat
£0l= 27MAf2|9] tigfet S0t SR ZishRlE 2

7 PII S FH= oiE ok

JIARRIS OH? 22 27| ok BfleZ 71y YS2 A=2?

IA2l= 27t 87| tZof

2= =0] 37| =0l

2le Sdll SRR HAY0[ | whzoil

EN Eli R|7 b ETE S0I= CHAl Xi2fLt7] ol
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3 ¢l =9l giziol S0iE L2 TIE esE A2
O mEslixls E4501M K= A0| BS %X
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@& Some sea stars cling to the ocean reefs and
rocks, while others prefer to be on the sandy
sea floor.

*(some ~, others )2 FH(LFE)~, LIOX|
(CH) -2 2n|2 of2f 7 SolM F 7 Fod
INES I e

«cling to : ~0f siCh ~0of oiE2ICt (= stick
to, adhere to)

«while2 BHHO SHH S LiEfL= H&A0|C

=X Zhe|

« prefer= toREHAE SHMZ 2H=C}

@ You mightbe surprised at their ability to
grow an entire new limb when one is injured
or broken off.

- surprise?| +Sth= be surprised at o|ct,
(NOT -~ might be surprised by -
«to grow= 2EAMZ HAt their ab|||tyE AAISIC

«is injured or broken offE £SEf E30|CH

@Y Furthermore, sea stars are losing their living
place because of global warming.
* because of + HAt: ~MH20]| (= on account
of, due to, owing to)

Answer Key

Reading 2 p.108

1.0 2.@ 3.@ 4.9

Summarize the Text

(1) various sizes and shapes

(2) give habitats for

(3) like a natural barrier

(4) a source of medicine

(5) are suffering from some threats

(6) protect coral reefs
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@ shieh X0l M 2SO
@ 2°f X|=2| zSE MEH22ZM
@ HITH d=S017 MAXIE HSE22M
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|
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12

3 9 29| WS LRSI = A27?
O 22 MSES ol TR
LS EE HICH HES0HA MAXZE
Q@ MSE= Ciefeh Mt HEHS 2 ot
@ Mes MSE FL{0IAM o Z6HEICt
MExeE A JEE ob| 2ol MdSx= o=t slieto
Cie™ =229l &S 2fstAlzIc),
4 9| 2o UBez FE o 4 U= A2?
O MEze= 2SO Q17171 gict,
© Z et F= Ofehs oflye 4= itk
Q@ M=t GiCiH, QefZo| f=7t £0iS Aot
@ M==x HEiol, 7iset Bol E1IE HE 47t |lth
MExE QolEel B=2 08| hizof, Ms=It GIrtH
QlotE9l =V S01S7 2 Ao,

& Some reefs look like large sponges or brains,
while others resemble cabbages.
«some ~, others - EH ~ CIZ2 -
*{look like + HAh= ~xF Eo|Cf o £olc,
s resemble2 EFSAIZ HXIARL &7 AIZSHK| &
=Lt (NOT resemble with)

@Y Their colors are so beautiful that people are
amazed to see them.
«(s0 + EEAHA) + that + F0{ + SAHE KR
AsliA ~3ICE 2| ojojo|Ct,
« 2 HEAL + to BHAL to BEYAL

o HRls LIEfHCY,

rr
N
b
H
Al

€Y As coral reefs grow, they provide a habitat for
thousands of creatures.
cAse FAE HEAMR K2 ~olHA olct

« provide AFE(B) for AZHA) : A0/ BE MIZstC,

MSE7F RN IS AHO| MBSO MAKIS T
|

H27h == Be &R

AnswerKey

So, it becomes important to protect them
from human harm.
«it2 71304, (to protect ~)= TIZ0{0|Ct,
- protect AFEH(A) from AE(B) : B2EE AE &
oIt

p.110

Vocabulary

A 1.solid 2.rotating 3. habitat
4. exhibition 5. threats

B 1.® 2.9 3.@

C 1.barrier 2.resemble 3. core
4.pollutant 5. axis

A 1.while 2. for 3. from
4. to complete 5. much

B 1.since - while
2. with --» to(for)
3. to -» from
4. finishing --» to finish
5. being --»» to be

Making Sentence

A 1.is famous for the enormous ice rings
2. takes about thirty years to revolve around
the sun
3. Getting firsthand experience was helpful
for learning
4. while others prefer to be on the sandy sea
floor

5. so beautiful that people are amazed to see

Answer Key
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(EXET)!

» Vocabulary

A 1. 0] FRl= 240 Js HUE SHES HXIZ 4 U
2. X7t 2l H)sk 7| izl = HO =t of

2
oA
o
in]

B 1. g2 o3 flgse T F2IE 51 9l
OF=C, @ 3|Etsitt
® Fare =t OF:L
2. U7H MelH o0l Cie 2E 2SS 21 Ui 7+dst
Al o2t
@ &elsitt @ TIAlsitt
@ 7hgolct @ 24= bt
3. 71 0tol= HinS Fais 2ol ool tHE=It,
@ BH=AIZIEE © YRlstt
© MSsitt @ et
C 1. barrier : = 74| B2t £= ARIES Holxa |7 st M2
2. resemble : AIHO|LE M= MZAZE M2 Hloitt
3. core : Rt LHE 9| THY SH0| Bl= B2
4 poliutant : 2 = 712 LEATIE 22
5. axis : 7ittet S =AY = Thgel

» English Usage
A [5HM]

1. AE[E2 ot B= g Z0foia 2T of=2 AR &

Hereh 291712 MBI

o
. an
3 0| EAl= UE E/AR EHYSZREH ESoEs =o8E

5 Li= U7t 0|2 a7t iE U= EA/I6H|E di,

[5HA]

1. TS while2 BHHO| 2h= txR9| ojn(7} Qo

2. provide AE(B) for(to) AIR(A) = provide ARZ(A) with
ARE(B) @ AXIAl BE NISsiCH

3. protect AlZHA) from A=(B) : BEEE AS 2S5t

4 It took AIZHA) to EHAKB) : Bat=0l Azk= AlZto] &

Answer Key

>

5. as much ase ~0HE 9| oo|z of st H|2S

Tt

el

M =2 ALZSIT,

[aiAd]

1

olofy BHHOY off siEdh=s AL whileO| ER3SICE

2. provide AARE) to BIAIE) : BOIAHI AZ MISSIC
3. protect Af(A) from ARE(B) : BREE AS 2561}
4 It will take AIZHA) + for SXZ(B) + to EHAKC): Bt

Cal=tl A2t= AlZio] 22 Z0|Tt.

5. pretend= ‘~QI MSICI 9| Q0|2 to EHAE 2X0{2

=

Making Sentence

1

EX2 1 292 S2WD U Aot

Sfuct

glo

r=

[
0z

o
T

. EHSS 9/ T ofle o 3010] ZELICE

A AEE ske A2 sieo| =50 ST US0l| E




AnswerKey

LI7F OfL® IHHOIXE OFSCHR RIS ZOFLITNY G2 &
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Unit 1. Automobile

Vocabulary Preview p.115 Ears

e
rno re mn rjo

it
L
n
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=
ro
iz
o
=5
pal
i
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ic]
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Inl
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10
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o
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£ 2ot oot AxIb= of 21, ofsEl, o
A 1. hybrid 2. pay attention to Tl MAIS 7K1 QIELICH EXEL O7iS0] ARIES S &
3. own 4. research o BF=7| R0 ARXZIS 26T AHORiLch JIAS2
5. focus on 6. electricity a2| 2 X7t OfgUch A & oLy Ml FeF 1 X etol] &
7. can’t afford 8. be willing to £ UGUCL IRES 2|BXINYH HGIK= EEUCL AR
9 ride 10. make money 71011 QM= HOMRIEC= £t o SRefLCE
B 1.d 2b 3a 4c b5.e (o)
1 ¢ 29 5502 IR Uake 2427
& oy @ HEI RS2 AMsh| Ll
electricity %17 can’t afford ~& 0i&7t QiCt @ AE=FHO| HEE LRSI 2ol
hybrid &%, =82 research &7 @ Mz 2|27 ZHs Hushr| 2k
make money =2 #C} pay attention to ~0il 2[5iCt @ AHS0] HM RE5 A== H53617] 219
ride EiC}, &0f5ICH own AFatCt M0l 2|28 ARXIE 5 SRl XIEQ| EXS ANGH
be willing to 7|7{0] ~&{Ct focus on ZI&Estct, Axsict il %'Ef,
convenient Hz|5t occasion &%, &AL 7=
popular 217] /= normal BE©| Tt 2 2| 29| occasions?t 20|17t 7HE H|EE 227

Ict O &7l @dME Q@ 0lRE @ FolE
occasion= HALEFSH, 713l o Qlojoli, Soloiz=

: ‘event, affair, opportunity’ O|C},
Reading 1 p.116

ol

require 2R3 27

3 ¢ 29 U8a IRIsK| Y= A2?
1.® 2.0 3.@ 4.9 O 2|FEIe] AU S7H2 01 S HotsiTh
Visualize the Text @ HIM 7t = E+16t EI$&8_DH$ Zrt
. . @ AR & M ot AmxTIof| BEE 4~ Ot
(1) special occasions (2) room @ OJMSS HE Amxs} SFSHe 21 Z0/5H| Otart
(3) expensive (4) most men LGNSO AmAIIE SXSIT AXRE GIAS0| AmRTIE
(5) look good (6) two or three SXIGH= 2 BOIGHX| Q=L 2l LIBS SIZEIX| YUt
4 9 29| gzl S0 22 71 Yo A2?
&0 (D AZR7H0] Q01 SEE HOIFDIS SR
gLl 28 4 = o7t E/UEUL7I? ofote ofg AL @ AZmXTI0 AN B2 MECH SQ3SICE
Ch 282 MOo|USUCH Ri= 270 He|guch A2 ofF Q AZR=TI0 UMM £z HOFECE SRS,
Tt HCIREX| X2 27 & & QUELICH SHA0| 71 Z0t5t @ AZLXFIE 7Bt 1 7120| J1E ER6iCH
= A= FRYU7R G2 Z2HXY HE ALXIIE Z0fg gIZh Qo "ARXTII} 2|RRIECE HOWGHK| 2ULF eh= LE

Answer Key
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0| AGE7| Mo AXLXIIS Z0|5}

=
—
Ch £E5 BRABICH = A2 82 + ok

@& Do you like fast sports cars like Porsches or
beautiful cars like Jaguars?
« A HI lkes 2EC| SAIZ EO0fsiCh 9 Qo]

olct,
« 5 HII, MR kes TRIMR ~RE, 22
9| ojofo|ct,

They are not as comfortable as limousines.
* (A not solas) + AL + as By= ¥ HILE
oz '~otF --5ix| YOt 9 olojo|ct,
= B H|wg + than A

Reading 2 p.118

1.@ 2.3 3. 4.Q

Summarize the Text

(1) both electricity and gas

(2) are good for the environment
(3) pay more attention to

(4) they are expensive

(5) make hybrid cars cheaper
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0[E2|= XISAl= 02{e] XtSXt0lCt, ofuX|et &
17t UI Hi20| f2l= =L S0jE2E XSAIE
US Aot slo|=2|E KSRk VIt JERE

o =
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0| stol=zl= Ifo S US|, 2RSS HIMY| Th=0l| A
HEE2 Xz XSS MKl Bt eME2 o B2 S+E
ofi sio|E2|E XSAIE o MA| ZHE0{0F2E oftf, SHX|2 (b)
A2 B2 AR =2 2R 5P| mizoll gX] §4E AoICh
N

£ 7122t (c) 252 == E0{0t 5P| mzol 2& ASXIof|
s eitt RE28E, U2 MHE0| g slo[=2|= Xt
SAE AP| Rl B2 =2 XISsiH1 ok A2 ofuch a5

Answer Key

2 Bds No| dZsixls 22XE REe MHER sl
2IE XSAE & A 6KVt gitt slo|E2|E XiSik= |
Hetet 20t 104 Holl= o TPt o 84, SR8 Al
7IER0] (d) XSS A1 UM Xg2 Hel 2E Mol |

@slolE2lE XSAE MUt JERE A8l A2

O AZICY
@ SNIS2 sfol=alc AISAE BfEOEN e £2
HCk
@ B0 FEH= 042 IRKIEE X2 Jol RE Ato| Foh
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@& Soon, we will be driving hybrid cars because
we will need to save energy and the
environment.

*will be driving2 Ol 2I4& AIMZ 7k2 0]
2if S LIERHCE

* because= O0IFE UEH= FAE Z&A0|CE

Companies have to do more research and
make hybrid cars cheaper.
«have toe= ~afof2t Sict o ojnj2 ‘should,
must ME SRS LIEHHTY,

sand = SYUEEAZ do2t makeE HZGHELE,

@EY Right now, companies pay more attention to
building and selling normal cars.
* pay attention to BAKSEA : ~0f HAS 7=
olct, ESaICt
cto= HXMNZ SEME SH0Z =0t (NOT
-+ {o-build-and-selt )

Unit 2. Invention

Vocabulary Preview p.121

A 1. millennium 2. predator 3. historian

4. scare away 5. division 6. pottery
7. preserve 8. protection 9. melt
10. proof

B 1.d 2c¢c 3a 4e 5.b

£ of2]
proof &7 historian SAPt
pottery =X17| millennium &

protection 5
preserve 2551} X|7|ct

melt =CtH =0|(Ct

predator ZAIXL ZA S5

division £, 2Hf

AnswerKey

scare away &g 01 Z0} ti2|ct
suddenly ZxP|

by accident %5|
A3 climate 7|%

experiment &
transport +&

Reading 1 p.122

1.® 2.9 3.@ 4.Q

Visualize the Text
(1) 7,000 years (2) rounded pottery
(3) move wagons (4) cooking

(5) predators (6) colder climates

(A) Sithel =2t2 2EFE2 1A Altiel S8t 230! ¢
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@ HiF= 2f 7,000 Tof| 110 0= XS0l HE=ACL,

@ HERIE2 IEs &2 ZAVIE Ues O XMee2
ARE3HEt

Q@ =9 ME2 QRIC| 27| EBE & 7Y SK5HA| Gt

@ MHE2 =2 T2E & W mzol O F2 7122
0I5 & 4= UARUCH

4 9 29| 2Tl 012 SHZ0= TRy L2 A2?
© oftH @ A7t
Q@ &, tiAIZst @ g
gz of 20t 2IZ10] QU= 2E2 =9 Ml 7KK S=0f 2
SiAl AEst RATE T2t F7tel Qo)zp L= in addition
0f 7+ MEslIc

@Y The wonderful inventions of today would not
be possible without the important inventions
of ancient times.

*(without + BAL F0 + Z=SAF 279

I BSOZ withoute Z271E9| dsts it
-

(S

0 1l
N

« (without + HAB S| oloj= ‘~0| gictH o|ct
« Without &AL = [f it were not for @At = Were
it not for A}

EY But there is proof that by the 4th millennium
B.C., it was being used to move wagons, in
the same way that it is used today.

«{proof that ~)0ilA that2 4= LiEil= &%
A2 that 0[ote| LHEE2 proofE AHotn UCH
«it2 the wheel2 2lo|5t was being useds

0 IRt s~SEfolct,
«to movex= ‘BZI0]7| i 2h= S0l EE B

2 in order to move O|Ct

Answer Key

@Y This allowed people to spread to new parts
of the globe.
«allow + =X0] + SHEH0(toRFAD © ~oflA| -
B 2 sRfIct
- allows BHEOIZ toRHAIE ZEC), (NOT -
)

allow people spreading -

Reading 2 p.124

1.® 2.0 3.3 4.Q

Summarize the Text

(1) during wartime

(2) the biggest invention

(3) a safe way to communicate
(4) Another popular technology
(5) came about by chance

(6) microwaves from the radar
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E(QIE FXfRIRIX) S Ast 2ot

Q] 29| by accident(RHs)2} 2jo|7}
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7F HIzet D27
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chance, accidentally’ O|Ct,
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@Y For instance, the biggest invention [made
=01
during a war] is the Internet.
SAT SA
«for instance : O£ S (= for example)

« 229 F0{= the biggest invention0| SAt
= iso|ct

» made= SAPt OfLT
= IHSA0|CE

HAL inventionS $Al5tH
@ What they wanted was a safe way to

communicate in case phone lines were

destroyed in the war.

o, =90i2= by

AnswerKey

swhat2 ZAYAIZ HA 252 F0{o|ct
= the thing which)
*to communicate= At wayE $=AISHT

1SS CiHlehA of S0l T

(what

«in case= ~& A4
Al SIEtS sttt

a4

Since then, it has continued to develop, and

now is used in our everyday lives.

* has continuede xR ALS

« SIAZ(AIZ) - 0 + have(has) p.p. + since
+ 301 + 17| SAt

*since?| Qo= ~0|F& 0|k,

LEFHCY,

Many kinds of technology [(that) we use
01 A0

everyday] were invented during wartime.

SAt

0 + SA ~ : 252 2

« HAF + (that) +
Al thatO] A2Fel F&0|C

O 71—

£

«were inventede I a5
olct,

EfOl1 =289 SA

Unit 3. Technology

Vocabulary Preview p.127

A 1. translate

3. vacuum cleaner

2. science fiction

4. unbelievable

5. bead 6. household
7. respond 8. chore
9. device 10. feature
B 1.b 2.a 3¢ 4e 5.d
£ o9
vacuum cleaner /& 47| device Hx[7|7], 717

household 7
chore (§715e=z2

feature &

respond PS5
furthermore 7

el
ofs) @

5| ZSI5ICt
t

translate #1<{stC
science fiction
unbelievable 2!
t bead 7&
AlCEt thin 82 7t=

Answer Key
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command ¥ estimate F&s\Ct, EIkSICH @ (a) 7HRIE 229 mifE
ahead o2, %o @ (b) 22 xIZ AT
@ (c) 2RA| of2=s=
@ (d) B&E=
(c) 12 & =289l 28 £IF FA7((The robotic vacuum
cleaner)g 722t
1.0® 2.3 3.@ 4. 3 9 29 Aibo™oll Het MHOR UK U2 HE7?
Visualize the Text v IMJ?JQI ois ?mﬂ e
@ it Totds o o Qlot
(1) common (2) personal robots Zolo| BRS M= 4 o}
(3) sensors (4) avoid @ MES Clol= 1S 2 9ct
(5) real dogs (6) fifty new words 00|} RIS & 4 olrie LIRS olag|x| otn 2
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€@ In fact, by the year 2015, it is estimated that

inl
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o

sales of personal robots will be four times

AA-
ApalEte] A2 FQI01A| tie 4 USLCE o =2k Uy greater than they are today.
0| 7|cte| JUEU S MX| 2dof, eIzt HIet 2RE2 I <2 7101 that®ES FI=0{o|ck
2US SL OFZ AIZES E2 & JUE AU 2=, 2% - four times greater thane di==At E30|1 S
Tla2 P2l Ui MEE HEtAZ AJL|CH o YHiL O =2 olct

o HiAE ESI2 (Bt Altwice, three times) Bl
= than) E= HisAF as -+ as)O0lCt

EXER)

1 ®2 H=e=z J7HY 232 A2?

@ 2 8rF{o| A} @& Soon, human-like robots will be able to do

© JHolg 25 mof I7} chores around the house or take care of
Lo AN = o

@ 22io| A0l S IR Tl people who are sick.

@ NEOl| 2 SAE 224 7S «(will be able toy= ZZAL 2705 20| £ 4 9l
o = = AN =

2
‘ ] L 20| oozt 22 Cf2 B2 AIRSIC
9 22 018 20| S2lo] Ly MEoIA Bl 3 I IO Sh s HE Hes AlsEt

(NOT -+ will ean )
who= HAHHEATZ)ZE Al people= 44!
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Reading 2 p.130

1.0 2.@ 3.® 4.@

Summarize the Text
(1)science fiction movies

(2) these films so exciting

(3) unbelievable technologies
(4) modern video games

(5) watch a newspaper

L2 MEEE2 S 1o BaE ZorgUnh 22Xz, 028t
Fet=0| 2ES S0ITIEIEE Ol7= Hi= 09| Tz mE)L

Ct et (Ofo|UHZIE| 2|ZE)olIM= T2fet 7IeS ol Z&fst
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O} %] ol Q5| =26 2 USUCE (@) Ol ST, IS
o HBS UHIE 9 9 2 BrHol HICIR Ao HSFLIT
NYSE TVHES 9 & 7RI EILIA, OFF, Axlol By}
X A B2 4 UBLICL 22 0LI2, (o) TSXISS TAIS
0lle—molmoll Bsh S FULICL HAIF0l= S HOiE
4 U Y MYULIL IS ZIl0f BSks OfF Zrn M
2g © Pag FEohn UL 0 A2 XS o] 72
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AnswerKey

= oA Z710] ZEMCH 271 fl =218t TAIKR! oA
olct,

3 9 29| 21 YA 2 227
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@Y Inpart, itis all the future technology that is
so exciting about these films.
(it is ZROF thahe ZETECE all the
2

future technology & Z=§ict

@ Although these technologies seem far off and
unbelievable, scientists have worked hard to
bring the dream a lot closer to us.

« (although F0{ + SAL F0{ + SAD © although
= Y2 PAES HEMR ool HIE ~O0lX|
orojctk,

+ have worked= SXi2tE AIM|O[CE

* to bring' 2 7HR7| sl of onj2 =Xig Lt
EHACY,

@ Soon, we will be able to watch a newspaper,
not just read it.
« (B, not A)= (not A but B)2t Z2 HJo2 ‘A
7t oti2t BOICk <f ojojo|ct,
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p.132

Vocabulary

A 1. melt 2. can’t afford 3. translate
4. be willing to 5. scaring away
B 1.© 2.Q® 3.2
C 1.predator 2.preserve 3.hybrid
4. chore 5. research
A 1.as 2. seen 3. was
4. the way 5. that
B 1. which - that[who]
2. than - as
3. cleaning - cleaned
4. walks --» walk
5. the way how --» the way[how]

Making Sentence

A 1. because they make them look good
2. pay more attention to building and selling
3. It was being used to move wagons
4. Many kinds of technology we use every day
5. It is all the future technology that

(EETETED)

» Vocabulary

A

1, Z0RZE LMD} OSSR, 20| 57| AlErEE Zolck

2 U 7152 ol 218 WIS 2 olgt ik

3 HAEIS 1 SMS U0 P02 HBHOE Sick

4 H201S2 B2 MIjRE| 7[7{0] HiRloft Bict

5. AlES MES Z2pi stof Zowiale % lsten
£83| SXUC

1. ijojelo] Haixl He X2pxol 20| Besl
@ Efct @ mesit
@ AR3H @ 4531t

2. J2{3t SetR w2 79| 2015| 0j0fZICt

Answer Key

O Z2uxie=z @ x|
@ 23| @ oz=xo=z
3 142 24 5004 M = Zez FFE=
@ Asict
@ Oof7|cf, sttt
@ BSsitt
@ EXo=z Mt
C 1. predator : CIE2 S22 H0|Z 5l 52
2 preserve : 40|t T2 E FL6HA H7ICH
3. hybrid : CI2 5 INZ2RE 471 SS0|Lt AlE
4 chore : &2 7R sb7| 2l F71ACR oh= &2 Y
5. research : ME22 AE L7otHL ME2 M2 A
Slot= Y
» English Usage
A [HM]
1. 7HAIS] S0l= TS of|#ex] Qict,
2. 9Ap} HloHIEE ZIEsta QUL
3 2 UHY M B2 T Al W T o|ct
4 LIO|A| XIS Pte= BEE TIEX & 4 QULI?
5. 715l Ofefof A HXIE wedsh Al Hi=2 11 g0 it
[5HA]
1. A not as + SSAt + as B : A= BEIE ~ofX| &t (&
St
2. IARIGHS S=El(was being seen by)7F B3It
3 29| =0= the girlolch mf2kM B SA was7t &
ey
4, HAEAL howet MAL the way@t 874 MX| =Lt
5. (It was + ZE0T + thah 1222 that0| YL SEH
olct,
B [atA]

HZS =25t Al

[y
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1.

2

3 H3d0] g Fasta QIR

4 27t 0lop7 |5l AES0| S2lolAl 2ozt

5 4= 2Vt vide Hdsk= Yeis 2t

[5HA]

1. (It was + Z=0F + thaty F22=2 that £= whoE
rt
SSH|W BSICZ {not as smart as)7F YU HEHOIC)

Bl

ARISHS 4=Ef : was being cleaned



29| 0= The boysOICh Mt SAL] e =
+Hwalk)o| HRsI,

5. BARAF how?t 13AF the way2b 27 MX| 4=LCt
» Making Sentence

A 1 EXIS2 J250] XMISS SN =0iAl 2HEY| mhRo|

ARXIIE 25T AL
=3 [u}
[«)

2 M= E

UG

5. Ol2fet Fals0l 2ES S0|Etlet 0lRe HIZ 029

7z W2 YL,

CHAPTER 7

People & Origin

Unit 1. People

Vocabulary Preview p.137

A 1.prediction 2.atrandom 3.rebirth
6. Buddhism

9. term

4. anatomy 5. politician

7. at once 8. priest

10. artifact
B 1.e 2.a 3.d 4b 5.c

£ of2]
Buddhism 212
priest AfX|, MZXt
artifact 3015, Q3=
atonce SA0, A
term 01, 7|7t

spirit 4l =

rebirth 24

prediction 0|, ofl74
atrandom FA¢9Z2, o2
anatomy of%

politician ZxI7t

identify =lstct, fotect

AnswerKey

rely on S}EslCh, OfX[sic

illustration A3t =af

Reading 1 p.138

1.@ 2.® 3.0 4.0

rare S|7eh =2

Visualize the Text
(1) Tibetan Buddhism
(3) find the rebirth

(5) identifies artifacts

=D

E2i0] 2otz EMIE 29| X=AYUL, oefE2 o1 E2t
O SOt MidS Mt £ S0 H210] 2f0p7) 08 MEiel=
Xl OMALR? HSHMeZ EHIES| S AXE2 F2t0] 2iofrt
Ol B2 s AUty BauUct I52 EoF a7t Mys

EHLIEH 9] FE0| M22 AlFez ThAl Efo{tal gD

(2) anew person
(4) the rebirth
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20| 207 MdS w2, 29 GEKIS0] 29 s 2
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— = =

m
b~
M
2
)
=]

2 S0IEEs B0x=d, 2 § E5= o1 Z2io 2ot &
FUE AYUCE O g 52 290 FARIZ (d) S0l
=502 YRS ME6) B2t giuct AH0| g3Xez Zeio|
2iofe] ARUE SUSS HOE Iz a7 Z2to] 2tote)
A 4~ ACkE Lo YA gLoh 19 4EREE AES
=i E2tof 2foi= X[Holr| Hof ojAat = OE YASSE 2
HBILCH

1 # 29 g€ T 220iM 712|71= Aol THE sit=?

(a), (b), (c)= high priestsE (d)e= artifactsE 7f2/71Ct,

0%

Hlet 227

7
Xet @ TEAZIEt @ ofXfstct

Jstet of <jojolx, S9oZ=
|

2 9 29 rely ont 2Jo|7t
O ~2 4ot @ (HU3)
rely on2 'SIE[9X|

‘depend on, rest on’ O|Ck,
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@ Zato| 2fobt 9| AEIRI OfEA

@ ol o] Bfopt MINS w3 ) Zato] 2lopt
=] Medgl=x]

@ (h220| EME 21 AISS DE AZS0| BN 4

AL OEAH 7| AAfst=R

CHEX]

Wizt 122 ajo| 2t NS mLIpl B0 Zato] anp
= o= MEsH=oF of et Lholct
4 9| 20| UgoR =2 & 4 U= %27
@ Zato] 2ot e Azl DEOR SR oI
@ Zato] 2lofs MAS HLp| R0, 29 SEIKIS FoiA
=

© 28&, U9 EHERIS2 E2f0| 2ot Edeitt=
201 QS Z=0

=3
ElHE 2 MAE2 Z20| 207t s Hesiti @
A

I Ao, mtd Z2to] 2tofrt o] Algel 2

@Y After the Dalai Lama dies, it can take several
years for the high priests to find the rebirth
of the Dalai Lama.

« (it takes + ARt + for 2874 + to EHAH2
~oh=dl --AlZto] ZZICt o 2jpjo|n for A

A2 1o 2R ojoj4 Zofolct,

@ After finding a candidate, they perform a
series of tests to confirm whether he is the
rebirth of the Dalai Lama or not.

« After finding2 B&EADL U= BAHECE,
ATE2 oniE 2Eo| 57| Lot TEAS
2F5HX| Q4=Ct (= After they find ~)

* {whether ~or noty2 EAE= confirme| =X
0f0|1 552 ~QIX| OfX| olct,

0= AT

@ They present the young boy with many
artifacts, some of which were owned by the
previous Dalai Lama.

« present + ARZHA) + with + AF=(B) : A0l B
£ HMiSsict

« (Z0] + SAF ~, some of which + SAh= &

Answer Key

AEA ALN SHZ MllA= many
artitactso|Ck,

*+some of which were ~ = and some of
them(many artifacts) were ~

Reading 2 p.140

1.@® 2.0 3.0 4 @

Summarize the Text

(1) who knows many things
(2) Leonardo da Vinci

(3) for his paintings

(4) a flying machine

(5) was a curious person

(6) are very rare

=D

SYAA BH(Renaissance man)0lets 0= 24 Z10[X|2t
Rel= 2ELH0= 6Ts] OIS MBI A2 EUA A
CHoll mefist Zd0|m 2UMA SR B2 HE Ol Alds st
Ch O] A2 283t 3Pt 827t 2844 AlRl 12|10 HX|
7t S o= Z0lE 2 4= QUCE SF AJZo| Sholl = off 7t
X YES FHE £ AN 2AR2 BIISE AN BEY 2
UX|TE AAk= 22l = 7K £2 o E0E 4 Ut

geLEr o BXPt £ ofolch P2k= (ZURIXHLKERC
DiIzhut 22 19 O%ER I K & Y1 ot oXgt &
A2 BIX|Q| CIE AEEX Of=71? = 715, ofE, 58 H
AL 2|3 7|Qt 22 Cist T2 Te Mept S0i7
Hlo|x|9] S WLt (a) I= HIYVIQ |Fst dags 27|
T 3Lk (b) 272 delSEQt HItt PaS ot AU HIFY
719] 27| 20| 2 £ UAULE (c) ot BIXl= 0 27|el0] &
2 AHOI7| TR0 EUIMA gHo| & 4 JUAE ZI0ICE () 2=
O] ZtX[ofl EelA 23 HRE ol= XS HFA| 2L 0f
QF H|5t T2 ARHE0| E EXffol7 [= sHR2h iR =20t 22
2 JIoICt 2 o JAI0] Xp71e] EllyA gHo| & 22 9l

mo
N

=

EXER)

1 CHS & Renaissance man(2UMA S 71& & Mot



2127

® 4 2RI Af2t

@ DhS OF U= AR

@ Mol That SIS AR

@ B2 MBI B0/2 2= AR

o 201N 2UAA TH UL 2 OF= A0l 2UA
A BHO| 7| YlsiME 1A =20| Bojob ElT, of2

ez tiixlE 45 siF, =, TASW), 71Ao 2
(m]

of H2 M= XX|2E Alof 28t B2 USR] U,

3 % 29| U8 LR[S = A2?
O 2HdA W2 012 THs U AROICH,
@ 2HdA M2 =X SR 2 7K o7t AT
Q@ CiEIXlE HAkY 2|110] 2HlYA BHO|CH
@ 2L e U2 Xnt TS SAI =0
=20l HEIRPE HAR 2|19 ELiYA ORI =0t
O,

Rl
)
g

ol

LS M
Ch BIXl= 0% =7140] BUV| w20l (2] 71X| 2t
A= of= Az YFA| Ehs Aol wEtM o 289
HEB /IXl= (d)o|ck

G Isitpossible for a person to be good at so
many things at once?
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«at once : SA0 = at the same time,
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simultaneous

@ Continue asking questions, and maybe you
can be the next Renaissance man.
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Unit 2. Origin 1

Vocabulary Preview p.143

A 1. filmmaker 2. stripe 3.robe
4. pope 5. version 6. horizontal
7. legal 8. legend 9. unsure
10. monk

B 1.b 2.c¢ 3.e 4d b5.a
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Reading 1 p.144
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Visualize the Text
(2) Monks

(4) fashion designers

(1) the 13™ century
(3) criminals

(5) popular
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@Y Clothes with horizontal stripes are rather
fashionable today, but this wasn’t always the
case.
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@& Did you know that horizontal stripes were
neither popular nor common long ago?
- neither A nor B : A= B OFH (MEESAD

@& Consequently, horizontal stripes were banned,
and criminals were forced to wear them.
« were banned= 2HHAK| ~SEHO|C,
«(were forced to~)= AN SSEHO|DT S22
~BIEE 24 wiTf o|ct

« Criminals were forced to wear them. =
Someone forced criminals to wear them.

Reading 2 p.146
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Summarize the Text

(1) to discover coffee

(2) was discovered accidentally
(3) the most popular sodas

(4) a non-alcoholic soda

(5) alot of legal fighting
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@& But no on is certain about who exactly was
the first to discover coffee.
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@& Coca-Cola™is one of the most popular sodas

in the world.
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@ The drink became so popular that three other
people began selling different versions of it!
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Unit 3. Origin 2

Vocabulary Preview p.149

A 1. monster 2. jewelry 3. reason
4. celebrate 5. spirit 6. jail
7. ask for 8. emperor  9.fairy
10. Celt

B 1.c 2.e 3.a 4b 5.d
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Reading 1 p.150
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Visualize the Text
(1) Celts
(3) evil ghosts (4) kids

(2) scare evil spirits

(5) fairies
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@&J The most famous activities on Halloween
are making jack-o’-lanterns, wearing
costumes, and trick-or-treating.
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« makingZt wearing2
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@5y 1fyou gave the fairy some food, it would help
you. If you didn’t give the fairy some food, it
would hurt you.
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Summarize the Text

(1) Valentine’s Day is celebrated
(2) toward the important people
(3) other romantic gifts

(4) how it started

(5) a priest called Valentine
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@ People usually think that boyfriends and
girlfriends are the only ones to celebrate
Valentine’s Day.

« SHUBAL ones= S4EAF boyfriends and
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X EZyo|ct,
@ She gave Valentine food and love.
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»= She gave food and love to Valentine,
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Vocabulary

A 1l.rare 2. fashionable 3. artifacts
4. identify 5. celebrity

B 1.® 2.0 3.@

C 1.legal 2. politician 3. anatomy
4. fairy 5. prediction

A 1.nor 2. Peter lunch 3. so
4. would 5. which

B 1. this paper Sue--- Sue this paper / this
paper to Sue
2. will --» would
3. or --» nor
4. which --» whom

5. very - so

Making Sentence

A 1. some of which were owned by the previous

Answer Key
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Dalai Lama

2. and you can be the next Renaissance man

3. horizontal stripes were neither popular
nor common

4. so popular that three other people began
selling

5. If you didn’t give the fairy some food
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